|English+Hindi

Test Booklet Code

it YR Hehd

Y

Do pnot p

www@ﬁﬁr.com

his Test Booklet until you are asked to do so.
3| I q9 T T @iel I e HEl T W0 |
Read carefully the Instructions on the Back Cover of this Test Booklet.

30 viter gfent o faset smavr uw feu v =t e 7 wg)

. 6263791

www.FirstRanker.com
This Booklet contains 40 pages.

39 it | 40 TR 2|

Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on
side-1 and side-2 carefully with blue/black ball point
penonly.

The test is of 3 hours duration and Test Booklet contains
180 questions. Each question carries 4 marks. For each
correct response, the candidate will get 4 marks. For
each incorrect response, one mark will be deducted
from the total scores. The maximum marks are 720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

Rough work is to be done on the space provided for
this purpose in the Test Booklet only.

On completion of the test, the gandidate must hand
over the Answer Sheet to tl;ﬁi‘ﬁ ator before leaving
the Room/Hall. The cangdlidates are allowed to take
away this Test Booklet with them., ’

The CODE for this Booklet is Y. Make sure that the
CODE printed on Side-2 of the Answer Sheet is the
same as that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

The candidates should ensure that the Answer Sheet is
notfolded. Do notmake any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/ Answer
Sheet.

Use of white fluid for correction is NOT permissible on
the Answer Sheet.
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In a testcross involving F, dihybrid flies, more
parental-type offspring were produced than the
recombinant-type offspring. This indicates :

(1)  Both of the characters are controlled by more
than one gene. b Y

(2)  The two genes are located on two different
chromosomes.

(3) Chromosomes failed to separate during

meiosis.
The two genes are linked and present on the
same chromosome.

©

4,

5.

Water soluble plgments found in tcel] vacuoé\’

Anthocyanins / \—/
(2)  Xanthophylls ¥ \_,\,\U'LW

(3)  Chlorophylis
—= Vo |

(4) Carotenoids
Which of the following pairs of hormones are not

antagonistic havmg&\pjo\sf effects) too:e/at/%ﬁ

other ?

(1) axﬂ - Inhibin
Parathormone - Calcitonin

(3)  Insulin - Glucagon v~

(4)  Aldosterone -  Atrial Natriuretic Factor

Mitochondria and chloroplast are :

(@) semi-autonomous organelles.

(b)  formed by division of pre - existing organelles
and they contain DNA but lack protein
synthesizing machinery.

Which one of the following options is correct ?
e ——
(1)  Both(a)and (b) are false.
(2)  Both(a)and (b) are correct.
(b) is true but (a) is false.
(a) is true but (b) is false.

Which of the following is not a feature of the
plasmids ?

Single - stranded ¢
(2)  Independentreplication
(3)  Circular structure .~
(4)  Transferable ./

p b

3.

/U\]1
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I ¥ Frefafan g § @ FA-w 7 TR
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HYE B ¥ |

frafafgs s d A sR-TT @@ 22

1) (a) 3R (b) I & e T

@ ()3 (b) I W& F

() (b)Te ? AfFA (a) o B
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6. A plant in your garden avoids photorespiratory
losses, has improved water use efficiency, shows

high rates of photosynthesis at high temperatures
and has improved efficiency of nitrogen utilisation.
In which of the following physiological

would you assign this plant ?
(1) _Nitrogenfixer % -.

C,
G) L

been instrumental in the discovery of :

(1)  Oxidative phosphorylation
(2) Photophosphorylation and non-cyclic
electron transport
(3)  Two photosystems operating simultaneously
(4) Photophosphorylaﬁ?zg and cyclic electron
transport
8. Which type of tissue correctly matches with its
location ?
Tissue Location
Cuboidal epithelium Lining of stomach
(2)  Smooth muscle Wall of intestine
(3)  Areolar tissue Tendons N
Transitional epithelium Tip of nose )
When does the growth i ing

es the growth rate of a population followin
ogistic model equal ? The logistic model j
given as t = IN(1-N/K):

(1) en death rate is greater than birth ratg
when N/K is exactly one. '

~—

(3)  when N nears the carrying capacity of the
habitat.
(4)  whenN/Kequals zero.

10.

Which one of the following s statemen
(1)  Stored pollen in liquid nitrogen canbe ised
in the crop breeding programmes l./

(4)

Tapetum helps in the dehiscence of anther
Exine of pollen grains is made up of
sporopollenin

Pollen grains of many species cause severe
allergies

Which one of the following statements is wrong ?

1
@

11,
Phycomycetes are also called algal fungi.
Cyanobac\tf:?,are also called blue-green

algae.
(3) __Golden algae are also called desmids &

L\

&/V//Euba,cteria are also called false bacteria.
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6.

N (@) CAM ﬁ @ )/}9
¢
Emerson’s enhancement effect and Red drop have 7

10.

11.
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(1)
@

Frefafea adiem | s T & -

dN/dt = rN(1-N/K)
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(2 ¥4 N/KSFT&HH
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freafafea A FR T FA TR TG €2
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(3) IRV I FRTEE TR 9 el €

@) wEd 9 Wfadl % W T gogsidr e
FAE

feafafEr d aFA T FE TEa 8 2

(1) FEHERMESS F afad Fa o Fa S
7l

(@ rEEERIE B - e W wed €
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| The Avena curvature is used for bioassay of :

(1)  Ethylene
(2 ABA
(3) GAg
(4)
—
13.  Which of the following structures @ogus to
the wi fabird? T
' Flipper of Whale
(2)  Dorsal fin of a Shark *
(3) WingofaMoth " \J 97
) Hind limb of Rabbit * N
Blood pressure in the pulmonary artery is :
(1)  less than that in the venae cavae. .,
(2)  same as that in the aorta. \CJ
£ an that in the carotid
ore than that in the pulmonary vein.
Radmes "5
15.7 Fertilization in humans is practically feasible only
if :
(1)  thespermsare transported into cervix within
48 hrs of release of ovum in uterus. ¥ -
(2)  the sperms are transported into vagina just

r the release of ovum in fallopian tube.
(3 the ovum and sperms are transported |

simultaneously to ampullary - isthmic
junction of the fallopian tube. ~~

)

the ovum and sperms are transported
simultaneously to ampullary - isthmic

junction of the cervix. ;Q

In meiosis CTOSSW? !
— ) fi P
Q (1)  Diplotene _ \
. . @ achytene e \ F
& @) Leptotene q
(4)  Zygotene
v 17.  Chrysophytes, Euglenoids, Dinoflagellates and
Slime moulds are included in the kingdom :
(1)  Animalia
‘ (2) Monera
Protista
(4)  Fungi

12.

13.

Y\

14.

15.

16.

17

(1)  ufee "
(2) ABA
B) GA,
4) IAA

ﬁﬁﬁ 'affﬁ"!

(2 kﬁmg&sw

Iy F1 9E

(4) T[N & 99 U8

FORY HH & i SR g wa

(1) wely F s foe 2 € Su8 %9 g R

() 3o & e weeme % i g g

@) Fifee & s faan 2 & 598 sifus da
%l

@) Fopg o F s foa @ € 3ad afus

R

el ® e wiEa e adft 9va g
9d
(1)  er F offaT yEEvpET w1 T T J
afem % e &9 & 48 e & Wi B & |
YRS #1 A F ffe T S %
FeArdt Feft H B WA F SiF T8 A |

afTY] 3R YERTpE 1 TR et el &
TqeRT - grfie §79 T U § IHE WA
steT] iR YRS &1 T da & g
T T W UE & T W e
FgHt favsa § < fafma fFa sae | sy
B § 2

2

3)

)

1 fug

(2 T

@ 99

4 FEE

forg <fta s o wfinfeq €2
(1) g

@ =

@) wfe=

@4 R
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18. La(':j_(_gf relaxation between successive stimuli in
sustamedj}yfjcle contractlon nis knownas :
(i)  Tonus a
Spasm
(3) Fatigue
(4)  Tetanus

Is produced by nurse cells in testes and

inhibits the secretion of LFL, ™

Inhibits the s ton of LH, FSH and
Prolactin. —

Is produced by granulose cells in ovary and
inhibits the secretion of FSH.

2
@)

(4)  Is produced by granulose cells in ovary and

inhibits the secretion of 1 H,

20. Name the chronic respiratory disorder caused

mainly by cigarette smoking :

(1)  Respiratory alkalosis
Emphysema 3 9
Asthma \g
(4)  Respiratory acidosis

@)

Which of the following mosta
haemophilia ?

iatelv describes

N

(1) Dominant gene disorder X
(2) esstve gene disorder
- linked recessive gene disorde/
(4)  Chromosomal disorder
22.  Select the correct statement :
(I)  The leav rms are not well
adapted to extremes of climate

—ily

:yoth homosporous g}

Salvinia, Ginkgo and( Pinus) all are
gymnosperms

€quoia is one W tallest trees l//

&

Gymnosperms
heterosporous

Which of the following is required as inducer(s) for
the expression of Fac operon ?

(1)  lactose and galactose Na
(2)  glucose
(3)  galactose

www.FirstRamker.com
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18. IO IR & | fagifa 1 & % FRo e areft
ZreRTfeTa et Hepe et €
(1 2FA4
() U (TIsW)
(3) gFH
@4) feegwm
19. ‘sfefam’ & 9w o Wi Ty vg=ifaw -
(1) &% 99 ® 4 (FH) S g 3w
BT ® 3R LH-599 %1 Hafdd S ¥
(2)  LH, FSH 3R Wreifaes sau &1 Hafia 1 & |
() TE HIWE FI FOFE FFRT gR 3T
B € 3 FSH &a &1 Hefdqa &7 & |
(4) UE FSWE &I FOGRE FIFT g0 IqH
B4 € 3 LH-5a & "efiqd e £
20. FT F HRY GYFA: 399 T ATl SrEEe]
yaaa-fasr &1 9 gy
i (1) Va9 REFa
2
(3)

FIHA ALl

2 T -1 e w5 gay wfus
I I GRIT FAal & 2
(1)  wHE S w5 fawr
(2)  3wuEl SiE 5 fawr
(3) X -HeEerd A9urEl SiF @ fawn
@) v fasmr
(1) st e H 9t ey F =9 w
@) AT, FHATHE R fqamaErsE, 2
Gk
@\ TifeatTa, o 3w orgg, 3 | SAgaEis
g
(4) FfrFEweaEaE i d 3 uE 2

23,  OF V=T 1 sfvsafa F foau frafafza § 9 59

UF U & ®9 H w1 F:79 & fou sravas e ?

(1) SR iR e
2) TFES
(3) TR
4) RS
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26.

=

A tall true breeding garden pe:

a dll --, II.HI

F, plants were gelfeg

in the ratioof : ~—

(1) _-3:1:: Dwarf: Tall X

-~

:2:1::Tallh

: Dwarf

1:2:1:: Tall heterozygous : Tall homozygous

: Dwarf i

31z :Tgll : Dwarf

g plant is crossed with

T b AL
the resulting#enotypes were

ozygous : Tall heterozygous
®)

(4)

Which part of the tobacco plant is infected by
Meloidogyne incognita ? ~

Root
Flower
Leaf
Stem

(2)
@)
(4)

Which of the following is not a characteristic feature
during g;tos'is in somatic cells ?

k,(,]z)/Synapsis .

@

A

(2)  Spindle fibres.
(3)  Disappearance of nucleolus
(4) Chromosome movement

Which of #tie following statements ﬁs'noi{true)_for
cancgrcells in relation to mutations ?

pd (2)  Mutations in proto-oncogenes accelerate the
cell cycle. :
(3)  Mutations destroy telomerase inhibitor ]
(4) Mutations i_gi__@te the cell control. s
28. the major componen ost
_fungiis):
Hemicellulose
Chitin
Peptidoglycan
(4)  Cellulose
29.  Cotyledon of maize grainis called :
scutellum
(2)  plumule
(3)  coleorhiza
(4)  coleoptile
S

Mutations inhibit production of telomerase.%

24,

26.

27.

28.

29.

4+ TC
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WS U WX UIRY § §Hfd HA T 4 F
aredt s TaafiE A wen At Siw gy = gty
o a7 | o412

1) 3:1::99:T=

() 1:2:1:: = TGS T faamgrs - @
(3) 1:2:11:3@%@*:?@@%%@
@) 3.1 =87

T & U RE G FeAgeiET 3
BRI HHd & & 2

(1)
(2)
©)
4)
FI T HIEFS o TIgA F A FAfated 9 3
-1 T G 1 el ?

1494

(1) g

(@) wEHEd g

@) FHfzw & fawr
@) TS T

S 35 e & S FEs & fer frefetaa
FoE Y BT TEE?

(1) Scafads At F I 1 wahd #1
4
WISl B SR hITehT- =5k &1 @&
FEA LN

() IAfREdd s Heush &l T Fad 4 |
(4)  ScafEdd Hifee- T = fAfera w0 3a 2

sfurar waswi 4 ifv fufa =1 & yq@ a3
FATE?

(1) e

2) wEfA

@) U<rErEEEA

(4) HeE

TR & T & STST9F T F FHEl I8 2

(1) o™

@ W

3)
4

(2)
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30.  Which of the fo[lawmg‘vﬁguld appear as the pioneer | 3. U 714 FgH Y1 Ueh 7] Sig %.; w94 ﬁ'l:{raf‘@ﬁ

organisms on bare rocks s %) o8 B9 smam?
() Gpenalgae \@\/\ M) ‘arﬁ?r et
\);./ﬁfhens @
3 Li ts '
) iverwor R)\( 3) \})\

(4)  Mosses

~

(4)

31. | Changes in GnRH pulse frequency in females i b X p
"8 st B e B, e_cym, =813, I3 § GnRH 99 FRERd! g2ad &1 faa3o faas
controlled by circulating levels of : : ;
0 oaters A 4>p4 ST R g e 2

gesterone and inhibin

estrogen and progesterone (1) SR R et
(3)  estrogen and inhibin ) SIS 3R e
progesterone only (@) I=IE AR el
(4)  HaeT SR

Antivenom injectidh contains preformed antibodies

while Polio ps thatare administered into the body | 32. wfqsnfay =i & yefafia wfaeedt 2 € safs afe

Attenuated pathogens q () s fau T 3
Activated pathogens % @ o S
(3)  Harvested antibodiesX G S— :
(4)  Gamma globulin ¥ (4; e
33.  Photosensitive compound in_human eye is made 33 e | . TR
.k ' A TR A -
(1)  Transducin and Retinene (1) e ﬁ(}ﬁjﬁ?ﬁ
(2)  Guanosine and Retinol (2) TEFEIEA SR et |
(3)  Opsin and Retinal @) A s ifera |
Opsin and Retinol » (4) T AR e @
A =N

34, Spe_cialised-\(epidermalcells)surrounding e guard 3. BN FHIEEE F AT A m
cells are calledz— T — 4 FITOTFISH 1 &1 el AT 2
(1)  Lenticels (1) 9\
%mp[ementary cells () & FIfIET \\O
) Subsidiary cells '\ (3) Waﬁﬁmrq
AT

(4)  Bulliform cells X

e ©) o rRITHIY
35.  Which of the following features i @e 35.  Trfafed wem & 4 S9-a aeo weem - i

Phylum - Arthrogoda ? # & g W ?
(1)  Jointed appenda;,es e

1) Hyd 39
(2)  Chitinous exoskeleton (9} . :
(3)  Metameric segmentation ~— @ g :
e ‘60 2 3) fa@El dEtvam
AU @) R

36.)  Rodlgfion in pH of blood will - ; -
@ 1 p ‘;“"";_ Ofb ”“:“_’“"'b ol 36. FftX % pH F & Areft FHt & Fw ;
release bicarbonate ions by the liver. 13 : 5
(2)  reduce the rate of heart beat. % ETIT & Em S5 o :
) weg-TeT AT
(3)  reduce the blood supply to the brain. @ ki Eﬁq g l
(3) A #1 fE deRo &y & s

(4)  decrease the affinity of hemoglobin with . . .
oxygen. (4) HTFHSH F T SHrea ﬁag?n‘qz?ﬂ!hﬁ |

—— ==
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37.

=

38.

tothe: 7
Thalamus or petal

41.

Which of the following characteristic features
always holds true for the corresponding group
of animals ?
3 - chambered heart with
one incompletely divided
ventricle
artilaginous
%endoskeleton
Viviparous

(1) Reptilia X))

Chondrichth&/

@)
(4)

Y Mammalia
Possess a mouth with an
upper and a lower jaw

Chordata

Match the terms in Column I with their description
in Column IT and choose the correct option :

Column [ Column II

Many genes govern a

single character

(b) Codominance /(ii)_ In a heterozygous
o J—/‘?‘ organism only one allele

/ expresses itself

(c) Pleiotropy, \ (iii) In

a heterozygous
ganism both alleles
: press themselves fully

b

(@) Dominance =~ (i)

(d) Polygenic A single gene influences
inheritance many characters
Code:
@ ® (© @
M Gv) (@) @ ()
2 @ @ (v (i)
(@ () ()~ ()
) (@) O (@ i

made up of :

nd three fatty acid molecules
olecules and one fatty acid

One glycerol and one fatty acid molecule

roximal end of the filament of stamen is attached

(2)  Anther
(3) Connective
(4)  Placenta

Which one of the following statements is wrong,?
Glycine is a sulphur containing amino acid.
(2) Sucrose is a disaccharide. (Vg
(3)
)

Cellulose is a polysaccharidex”"
Uracil is a pyrimiding,

"] i e IR
o | W Fisﬁnl%er.co

37.

38.

-

\\[,

39.

41.

=2

waw.FiritéarT{kir.ljom
0
frfafaa § 9 -3 faftre @eo a8 & sigsli &
STt o | e S # 2
o1 e aren gea forms sgufa:
a1 g2n U fera d @
3qIfEerd 34 FFe
EEICPECT
I90 AR FA=e e aen qa
g A=
SHICTH [ i vIsai &l shierd 11 ¥ feu T 39k 9vie §
g Fitfere 991 g fasmed g

e |
(a) weferan

ob g
1

1) e

it gaddtst
Tifea

@)
©))

4) HIel

Hid 11
(i) 3FF S UhHel AL H
= 2 ¥
(i) ToomgTsi sia o Fed w
¥ Ueiter @@ =1 ifyeraa
FEAEI
(iii) faamgrast stta § <Hf &
\ Ut w=E & g @

_ \/\N\i Ffireme F3d €1
3 qU  (v) el S 3T e
wE

(b) TEgHfaa

(c) wEuIfaa

JuIfed T € |

@ ® © @
1) (v) () @) (i)
) @) (@) () (i)
@ G @G (v) @)
@4 (v) @) () (i)
T W T T 3] fReRT | g € 2
(1) Tereie SR A S 3 ST H
@) o e s 3R U a3 Y H
@) U TSI STU] SR d aE ST ST H
(@) U TErERle 3 U T 37 3] H
T % 7 1 Trehes o fred S dm €2
1)  IoIEA A1 e
@) TN
() HAs®
@) ST
freafafed § 9 FF-91 %97 | 82
1) TR TS gemtEd A 3 B
(2) HETEH SEHFES B
@) YA TE UifadasEs €
(4) Fifge s fafifada 21
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42.

00 A Yo

Water vapour comes o@mm through

FRATpEp

o —— O OE,OL

qreokiOy]  wwyFirstRanker.

42. mwnmwnﬁﬁamwmh
the stomatal operung__Through the same stomatal SEEEHETT ¥ ONE wH Ty § e st
o o His Pt v fefta &t ‘am-—ﬁ H fi

\ during Ehowwme e H | ST (o W
statements using one of following options : foram #7) w= faseq 9T
Q,) (1)  One process occurs during day time, and the (1) e wiEa fea | qun gud uiwm ua o AT
| (2 oBtll:: ) n;i};t;e;ses cannot  happen @ S !
o 0 . . . :
imultaneously @) < wfwan T bl & TeRdl & it 5 3R
\}/;oth processes can happen together because CO fergror Tk fiv= &
the diffusion coefficient of water and CO, is (4) a'q'éaﬁ yfeFard Fael Ta § & 9Fd1 £ |
different.
(4) The above processes happen only during | 43 AR %1 T HFel S RNA & THe Tk o H
nighttime. [T B ¥, T FEAw € ?
43. A com_p_ez_qtnhasnme&aﬂached to a single strand O W wE
Of R W Know (2) erEm v/
( ) * Okazaki fragment " 3) i (FgeTh)
olysome (@) UEATeRES
(3) * Polymer ~ P -
(@)  Polypeptidé » 44. %ﬁﬂﬁﬁﬁ? T FHiayH aita= w1 sfaeae
44. Which one of the followiné is a characteristic feature (1) uftaf=e swau
of crogland ecosystem ? e ; et
(1)  Ecological successio @ T Eﬁ' .
(2)  Absence of soil organisms ¢ ®) I ) 1 o
Least genetic diversity (4)  TOGON T STufeaf
(4)  Absenceof weeds Q 45. WIS ol wRd #1 fawfa = Freferfea § 9 @
45.  Which of the following i is the most important cause T T T F T2
of anima n to extinction ? (1) TE-gEIa
(1)  Co-extinctions @V,rﬁ @ e
(2)  Over-exploitation NM X_ @) faseh snfa =i el
(3)  Alien species invasion q, ' @ T s e
abitat loss and fragmentation
6. @ wa® W wt sifuswan d@n Fal ar S
46. Inachloroplast the MWW 2
f l!“_"_RL % ! .
(1) Antennae complex @ : 1
2) Stroma @ difew
Lumen of thylakoids (3)  UTETHITS i STAHIIH
(4)  Inter membrane space (4) ST HA A
47.  Which of the follawing ihot required for any of the | 47.  EL.TA.Y, sHferaTdt =1 fodl ot gt & e
techniques of DNA fingerprinting available at freaferfad § 9 forg v #1 sTavasal F&1 aFl 2
present ? = oy .
(1)  DNA - DNA hybridization M S <HRN
% : () deraes sEen st
2 olymerase chain reaction Rt of
(3) Zinc finger analysis ©) e
(4)  Restriction enzymes (4)  Wfas TarEE
e =
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48. The primitive prokaryotes responsible for the | 48, 3 aqfen g@?‘;ﬁaﬁ groft, S et r,r@a:n & e 9

production of biogas from the dung of ruminant AmrT-3ed ¥ fer et o § frmE siarta

animals, include the : ) '

(1)  Eubacteria - :

(1) gsamEt ®
(2) Halophiles @ T

(3)  Thermoacidophiles () am-a af 3

\./Methanogens @) W F

) ) . i .
49. Which of the following features is\not present/in | 49. frotfafaa o 3 SH-91 @& IRwHeT AR §
Periplaneta americana 7. Q f/k)f O 0L & T St ?

(1) Metamerically segmented body - (1) fadsw: dfed
(2)  Schizocoelom as body cavity e (2) CEE F w9 § e
() Indeterminate and radial cleavage during (3) spﬂuuﬁadﬂ%é\m sfifim v s faeed
. i R )
embryonic development @ N- e i & i
Exoskeleton composed of o
N-acetylglucosamine 50. a1 TEAl 3R weTEHA § GUR @ % fere wEer
wetter Al (SrE) A1 O™ AIE F WY agEehl
50. A system of rotating crops with legume or grass It B 2 e T B I
ture fo Tmprove Soil fure and fertili
pasture to improve soil structure and fer ility is
et . ()
Mﬁng agriculture @ wu
. (3) HEEEE Edl
(2) Leyfarming :
. @) TR Ed
(3) Contour farming
(4)  Strip farming 51 A3 @ R afers § e et T oAE ®:
51.  Which of the following is fvrongly/ matched in the T
given table ? . — —
— (1) | Feiifeaw |omeast A & geAl B g2l
crobe Product Application
& (1| Clostridium  |Lipase removal of oil stains { - _
butylicum Q)| ezt |amecef - A |sfwen g s
(2) | Trichoderma Cyclosporin A immunosuppressive Vircir=sicesd
polysporum drug @) | gr=sg =fig wfar-FAta = w9
(3) |Monascus Statins lowering of blood
purpureus cholesterol { il ]
(@) |Streptococcus  |Streptokinase |removal of clot from @) | gemFg [ sy aifea A 996
blood vessel B2

52. In mammals, which blood vessel would normally 5p.  wRHIRE H, FH- Ffr e AnEd: T sfir
carry largest amount of urea ?

- - It 5 FE ¢ 2
epatic I’-orta ein . (1) =% foanfeer o

(2) Renal Vein - (2} q’ﬁ; i ﬁ]’{'{

(3) Dorsal Aorta 3) U= TREEAT

(4)  Hepatic Vein @) TFd - fam
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53. W& FYT 9
) Haemophilia is asex-i recessive disease. > (a) EEIfera fom-gears syt o 2
(b) Down’ssyndrome s due to aneuploidyQ/ (b) =TS WM g & wR e 2

(©  Phenylketonuria is an autgsomal recessive © feemae (freasEgieE) uw sifem
gﬁﬂ&_‘;ger-x/ _ I e i fasr 21

(d) T FIH GACTT X -G qIE S

(a), (b) and (c) are correct. _ fawr &1 )
(2)  (a)and (d)are correct. v (1) (a), (b) 3R (c)TETE |

(3)  (b)and (d) are correct. -" M @ (2 () TEE
(4)  (a),(c)and (d) are correct. \/ T‘ﬁ @) (b)) wEEI

@  (a) () IR () TEE

7k out the correct statements :

54.  Which of the following guards the i

hepatopancreatic duct into the duodenum ? 54. frafafad 9 9 F-9 9= aga=m s afedt 5
ﬁ&é@- TEvit & g AT Tu ¥ T e E 2

(2)  Semilunar valve 2 (1) ISR =i sEufE

(3)  Tleocaecalvalve © (2) IHEIER FUR

(4)  Pyloric sphincter X @) BEEFuR

@) et sERfu

55.  Microtubules are the constituents of :
(1)  Centrosome, Nucleosome and Centrioles ™ | 55-  ¥&H e Heeeh Bt € :

(2)  Cilia, Flagella and Peroxisomé? (1) AR, Ffeerram i ass=si &
Spindle fibres, Centrioles and Cilia. (2 weHEn, el SR weaHwE %
(4)  Centrioles, Spindle fibres and Chromatinpq 3 W}Q‘E AREHFGl 3T gaar &

(@) TR, THE i 3R FwEfe
56. = AfEe d, TifFe o F= 82

56. The coconut water from tender coconut represents :

Free nuclear endosperm \_—

(2)  Endocarp (1) T Fshl Yo
(3)  Fleshy mesocarp 2 Rt
(4)  Freenuclear proembryo @) TSR A

@) A FHEh! YOrgE
57.  “ricarpellary, syncarpous gynoecium is found in

flowers of : 57. e, gxaved s fFaF qm A S ?
(1)  Poaceae (1) Ot
L/(.2«)/ Liliaceae @ fafeed
(3) Solanaceae () HeEEr
(4)  Fabaceae @ e
58.  Which of the following i-modificaﬁon? 58. fr=fafaa 4 9 9 v 99 &1 wuraro 78 £ 2

(1)  Flattened structures tm tia (1)  SI9RETF 992 G

Mitcher of Nepenthes. Q) AT wEHE
(3)  Thorns of citrus (3 fazgFsie
(4)  Tendrils of cucumber 4 (4 @HFHyaA

— gy s~
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60.
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The taq polymerase enzyme is obtained from:
(1)  Pseudomionas putida
Thermus aquaticus
(3)  Thiobacillus ferroxidans
(4)  Bacillus subtilis

Stems modified into flat green organs performing
the functions of leaves are known as :

(1)  Scales
(2) Cladodes
(3) Phyllodes

\/ Phylloclades

61.

A

62.

In higher vertebrates, the immune system can

12

distinguish self-cells and non-self. If this property
is Tost due to genetic abnormality and it attacks
self-cells, then it leads to :

(1)  Active immunity
(2)  Allergic response
(3)  Graftrejection

Auto-immune disease

Nomenclature is governed by certain universal rules.
Which one of the following is contrary to the rules of

nomenclature ?
G

(1)  When written by hand, the names are to be

underlined , _—

\)})/Biological names can be written in any
language %

63.

(3)  Thefirstword ina biological name represents

the genus name, and the second is a specific
\/

epithet
SRR
(4)  The names are written in Latin and are
italicised w—"
aIcoes

In bryophytes and pteridophytes, transport of male
gametes requires : i

Water
(2) Wind
(3) Insects
(4)  Birds

59.

60.

61.

62.

63.

www.FirstRanker.com

o vifferes Tee fered yTe fehert ST & 2
(1) TEmEEE gleEr
Q) 95T TEEReFE

@) AR e
@)  @fgeg gaed

ot =1 T F 9T, F9E B AT H i a1
1 el ST 8 ?

(1) ¥+
@ Uiy uE
(3) i
@ g

T FIEREA °, ufawen o @-wifeeel 3
-iferariat 8 9 FT T § | Afs o w1 SAANE
ST & FRO g 0 A% @ S AR qE
- FEE F T FH A A 3HR IROTEEEY
1 2m ?

(1) afFa gfaen

@ ol e

(3) T sTEERR F
(4) wEgfaen fawr

am-ugft Fo fadm gt A fad g fuita
21t & Frefafes 8 4 39 9 @ S TW-sfa F
fradi & faeg 2

(1) T vE Y § faed ¥ 9 38 wEiEd fem
EiIGIE

@ S A 1 feredt off s § fern s wsa €

@) e am § ve v 39 AW I G v
e Hehel TS i WA L @

@ A At v § oiw fed el | forn
EIGIE S

FEEEE 3R TfEEEe § | g & At &

feru farqent avashal grdl & 2
1 &
2) e
(3) e
qeft

)
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' 64. In context of m%@m, which of the following
statement is;m\cT’cD { 6

(1) Itcan be used for detection of Cleft palate.

(2) is usually done when a woman is between
14 - 16 weeks pregnant.

(3) Itisused for prenatal sex determination,_ -

(4) It can be used for detection of Down
syndrome. \~

65.  Inthe stomach, gastric acid is secreted by the:

— —

(1) acidic cells

(2) | gastrin secreting cells
parietal cells

\ W peptic cells

66.  Spindle fibres attachonto:
(1)  Kinetosome of the chromosome
(2)  Telomere of the chromosome

\/’@fl Kinetochore of the chromosome
i Ore o the chromosom
(4)  Centromere of the chromosome

67.  Which is the National Aquatic Animal of India ?
(1)  Sea-horse
L/(})/(gngetic shark
(3)  River dolphin
(4)  Blue whale

68.  Which one of the following cell organelles is
enclosed by a single membrane ?
—_— o - A

(1)  Nuclei \
(2)  Mitochondria ¥
(3)  Chloroplasts »

Lysosomes

69. The two Eolxgegtides of human insulin are linked
together by :
\mmde bridges
(2)  Hydrogen bonds
(3)  Phosphodiester bond
(4)  Covalentbond

WWV\;)F.irsﬂBan ker.com

1 2?‘133

64

Y

67.

69.
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Seeay & Heo f, Frofafas § 9 w9-ar wuw
g2

(1) ¥ E=a (Fw o) 1 9a @ ¥ fau
g o smen &

| 2 T AHAR G 99 o S & 5" S w14 - 16

Hile & &t 1 7 S 2

(3) sﬁwaga‘f%ﬁ—ﬁuhw%fmagaahw
gl

@) ¥ = W 1 A e ¥ ot wgee fen

Sl
M H 2T T F HE aa
(1) = wifee g

(2) i = EE F=A et FfEe a
()  Tira Fifveei g =
@) e wifvsi g
&l g T & -
M W%mﬁaﬁwrx i X 6-022
(2 T F YW

@)  TUHA F FEAER W

@ TEEEEmw L ¢ éﬁj

WA 1 T AT IO - & 2 é

. €30

—

(1) = s 5
(2 T = R 7"\

() & Fi =few Z o
(4 =@

Fr=fafes § @ =9 @1 Fifvsm Fa9a FAIY
frogm g2

(1) FEF
(2 T
() eERacE®
@) TEIEE
S FHH & 1 Wielliens amm § fras g
Ao gra § 2
(1) SEEeFEs Iy
2 EEENE
(3) EERERURT a
(@) HEEAST Ty
B s
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70.
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In which of the following, all three are
macronutrients ?

&p
K_}]ﬂ?ﬂ)g@ﬂ nic kel phosphorus

71.

)
)
4)

Boron, zinc, manganese
Iron, copper, molybdenum

Molybdenum, magnesium, manganese

Which of the following statements is_wrong for
viroids ?
——

L/(],)‘-/Theu RNA is of high molecular weight
(2)  They Iackm
@)
)

They are smaller than viruses _~
They cause infections +~

72 Ltof:

73.

74.

75.

1)
)

Stabilizing selection
Divergent evolution
" Convergent evolution

(4)  Shared ancestry

Select the incorrect statement :
——— T

(1)  LH triggers secretion of androgens from the
Leydlg cells, ©—
(2)  FSH stimulates the sertoli cells which help in

spermiogenesis. _~
(3) — LH triggers ovulation in ovary. ’o/
and FSH decrease gradually during the

follicular phase. VA LA A V2%

Which one of the following characteristics is not
shared by birds and mammals ?

(1)  Warm blooded nature ~—
(2)  Ossified endoskeleton L~
(3) .Breathing using lungs »+

“4 iviparity

Which of the following statements is not correct ?
e ————————

1)

Some reptiles have also been re orted as

ators in some plant specnes
Pollen grains of many species can germinate
on the stigma of a flower, but only one pollen

tube of the same species grows into jhg_s_t;de

Insects that consume pollen or nectar without
bringing about pollination are called A
pollen/nectar robbers.

G)

(4)  Pollen germination and pollen tube growth
are regulated by chemical componenis

pollen interacting with those of the pistil.

70.

71.

72.

73.

74.

75.

o\

e

)~ 0
)
o )
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frafafed # | #9 99t 9 geadms 82
(1)  mz2EE, e, werrg

() @R, 5, dr

(3) g, Y, dieftseTy

(4)  wieftsem, Freifoem, Fre
frafafaa 4 9 @ 9 Fv7 aEtge & favg § wom
g2

(1) FAF ALTAT, 359 Af0ah WR ool el &

(2) I WS A F A9 w8

() & faumEd & smiengd 912 2 §

(@) AEFATFEE

T T R T Se A & 2

(1)  TeerEr =

() I faFEEF

@ Atk faEm

(4) TN ATREG

ﬂmmaﬁgﬁq:

(1)  LH @iifen Fifeemei 3 v & a9 1 3@
FAAR

(2) FSH Wefelt Fifvmmed =1 38 & & st
YERTU[SA H HEFal T € |

() LH 3emm o sigegs %1 4| s

(4)  LH 3FSH Jed-3Tawdr o S Hit- o s
S

freafafaa @smi § 9 FF-m wF @ ufedl ok

It <1 | T S g ?

(1) frzaard gwfa

(2) sy sa s Ee

(3) WS g v

(4)  GefEgSTHAr

frefafaa § 9 9 1 Fy7 g 7@ 2

(1) %2 By, $2 TeY fadl § 9 F:3d g
Eciekich s

(2)  =gd R Sl % W U Y F Foienn
W HFE & Fhd € W 34 fa & wren

F Ha Th W-Afersm1 afda W a1 sedr
gl

w1 St famn W 3w a1 g & gem
FA & ¢ T/ HEHIG AR Fed @ |

AT AFLU q91 - Aferahl gfa W
qYT TFE F TR 37 & werasy 3q=
TEmEfAE T g et 2 2
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76. Seed formation without fertilization in flowering

plants involves the process of : o

(1) pomixis
(2)  Sporulation
(3)  Budding
(4)  Somatic hybridization
77.  Which of the following approaches doé not é’ve )
the defined action of contraceptive ?
/ £

prevents sperma togenesi;
prevent fertilization — |

increase phagocytosis of

L/,(—I’]’ (fasectomy
(2) [Barrier methods

3 Intra uterine sperms, suppress sperm
©) devices motility and fertilizing |
capacity of sperms
Hormonal P-ﬂ?m/ ret:{rd sy Of.
(4) , sperms, prevent ovulation
contraceptives =
and fertilization | -

78. Theamino acid Tryptophan is the precursor for the
synthesis of :

(1)  Cortisol and Cortisone

)  Melatonin and Serotonin

@)

Thyroxine and Triiodothyronine

)

Estrogen and Progesterone

79. A river with an inflow of domestic e rich in

organic waste-may result in :

1)  Deathof fish due to lack of oxygen. =

F
(2)  Drying of the river very soon due to algal 1
bloom. T Ty
(3) Increased population of aquatic food web
\_—____hﬁ‘*____*

organisms. A\

(4)

An increased production of fish due to

www.FilrsstRan ker.com

A4

biodegradable nutrients. ;a

76.

78.

www.FirstRanker.coW

st arest # fam firas & & a9 fsfafaa 5 8
HH o gFEA T ?

(1)  FETSA

(2) SIS
@) 9

(@) FIfasw g

Frefafaa sl § | S9-91 39 Tt ndf s

=1 gftanfea foran =& =« ?

(1) |ypFaes S=9ed  [YFRISAA T8 e od |

@) [Fw (3f@r) fafiat | Fie I
YT T BRI

. | @ Tt B, et w6
+ Tyt ’

@) |3 RIER]] e s
1 Hed H §
yERE & WA I

. &/ 39t g0 H o 3

0 EIRTERNE y ctiient i Bk

T ad

sfl st feite fover wvdr & fore e
e

L3

(1) wHe SR FfEEA

2) HERIAE 3R ERE

(@)  grEieaa 3R ZEsTE Nt
@) T SR WS

T 741 H 6 Hrefaen e § g weEted 99
weeR e &1, & s9e gfoms =/ 2 ?

(1)  SedeE T HH % R Fefear 7S |

(@ Yo WEEe & HRU Al Seal 8 @ S |

() g deE F1 gafe § gig @ s |

@) SEfErEEE 9T F FHRO HS! FH IQGA 98
ST |

—
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80.  Gause's principle of competitive exclusion states
that:

(1) Larger organisms exclude smaller ones
through ('ompetitimm

(2)  More abundant species will exclude the less
abundant species through competition. »

(3) Competition for the same resources excludes
species having different food preferences’

No two species can occupy the same niche
indefinitely for the same limiting resources.
81.  Asthma may be attributed to:
(1)  accumulation of fluid in the lungs 0
(2)  bacterial infection of the lungs O

\\/@)/ allergic reaction of the mast cells in the lungs

(4)  inflammation of the trachea

e standard petal of a papilionaceous corolla is
also called :

(1) Corona
@ Catina
(3) Pappus

(4)  Vexillum

83. Whjch of the following is a restriction
@ uclease ? - .

(1) RNase o

L/{Qj/liind 1

(3)  Protease

(4) DNasel

. /It is much easier for a small animal to run uphill
than for a large animal, because :

(1)  The efficiency of muscles in large animals is
less than in the small animals.

Itis easier to carry a small body weight.

(3)  Smaller animals have a higher metabolic rate.

(4)  Small animals have a lower O, requirement.
= s

80.

81.

82.

83.

84.

www.FirstRanker.com
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el Sversta w1 e e wea &

(1)

@

(4)

STYETHA T3 3T % it T ZRT B i
1 A ea ®)

s1fieh |@Em O g WA arelt effsits et g
FY TS § U §H Fel Sieis @ Ayt
Exs-uil

HHE HarE & fon vt 39 TS @ sty
F Tt 91 9 g & e W Sifad w©
Tt g1

F1E o 41 TS U € Freha o srdifoa srafy
% foru =€ T wedr FHife S gEmeA
THH A B B

STEIH] W1 T F & 8 ?

(1)
(2)
(3)
4

WHE & i e U 8 S
TRl H A ST it uers - stfufma
YATHAA! WY

Sfufesirdt amet gegs § 9 g ® 7 frg AW

F A SR ? .

(1)  FH

(2 Hfm

@ Y=

@) o™

frefafas § @ #F @ s, sfadys e

®7

(1) SES

2 f=u

@) wfeus

¢4 S

S IR F T3 & qFme § 9ie 3T F wqai &

foru gerel gt we SEE wa @ @i

(1) B2 Sgel F g § 7 Fqsi wt fe w5
Fegar %9 Bt 21

(2) B2 IR F 9 F FW o AT SULFA STH
B E

(3) I AN e Ty 1 IuTIE <X STvangd
sfera Bt £

{4) B2 AER & S F O, avEHAl STIEFA

E G|
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Following are the two statements regarding the
. origin of life:
(a)

I'he earliest organisms that appeared on the
earth were non-green and presuma{ly/

www.FirstI?gn ker.co
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FHed Ay feumu ¥ .
YT T Yohe B alc] ARTYEHTH g 8 T8 9
AR H9aqan et 9 |

anaerobes. % (b) WUH WHe B ST TUMNT Sd TEHEEA 8
M (b)  The first autotrophic organisms were the / o= st =1 Soaeia el faran |
! chemoautotrophs that never released oxygen. ¥ IR FYA ¥ FH-T1 frefaiEd su w@ 22
00; :ii;&;l:l?l;):s :rt::glenls which one of the following 1) (a) 3R (b) ST & TR E
(1)  Both (a) and (b) are false. @ (a el & Al (b) TTeTd €
(2)  (a)is correct but (b) is false. B (MR ém (a) TSI B I
(3)  (b)jseotrect but (a)is false. @) (a) 3R (b) I E W E
(4 th (a) and (b) are correct. 86. W ¥ M M TF W R § w el g
86.  Acellattelophase stage is observe in FHeqrereeq S@t T | 9% 3797 forerw @ Fear € e
a plant brought from the field. He tells his teacher I ST W 3 wivEwed | e & s
that this cell is not like other cells at telophase stage. R :
There is no formation of cell plate and thus the cell R T S 3#( T H T e H 37
i is containing more number of chromosomes as faursm st il #1 slen sfus EE F
compared to other dividing cells. This would result T gftomy =47 2nm ?
in:
1 dgdgdl
(1)  Polyteny (2) e
(2)  Aneuploidy @
Polyploidy @) s
(4)  Somaclonal variation (@)  wrEFr fafi
87.  Depletion of which gas in the atmosphere can lead 87. AR # fFw A H F+H I W F FWF
tﬂﬂijﬂ'___mﬁiiiiﬂmmncers ] FAE Fg ST ?
(1) Methane 1 e,
(2) Nitrous oxide (2) W m
Ozone @ &§m
(4) Ammonia @) yrf
88. !rc:i;:dfzgr:ltrli\nd;r}a gement Concept was introduced 88. HAH T YA N URON URA § Frg S v
(1)  1990s 3 mﬁl?‘;; .
(2) 1960s @ 1960
(3) 1970s 3) 1970
‘__)f”/l 980s (4) 1980
89.  Which one of the following is the startercodon?. | 89. fr=fafigd & & 311 -1 & yows e A
(1) _ UAG (1) UAG
AUG (2 AUG
(3) UGA 3 UGA
~, (@) UAA g A
( \§ : 90. FHIfEEH (W) Wz Had veet foRu a1 2
. / I'he term ecosystem was coined,by : $
- (1) E. Warming.'7& O . =
2) EP.Odum @ g 31’1@
BV _-AG. Tansler (B) TS TE
L/ﬂ( E. Haeckel @) 3 fe=a
s Timmrn;
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91.  Whatis the minimum velocity with which a body of
mass m must enter a vertical loop of radius R so that
it can complete the loop.?
1) |5gR
@  JeR
A 7 »
\/*/J 2R
@ 3R
92.  If the magnitude of sum of two vectors is equal to the
magmtude of difference of the two vectors, the angle
between these vectors is
180° '
o \ + B /)
) )
@ 45

self-in ance of the solenoid is :
1H 41

O

At what height from the surface of earth the
gravitation potentlal and the value of g are
~5.4x107] kg ~2and 6.0 ms ~ 2respectively ? Take
the radius of earth as 6400 km : J\/

(1) 2000 km g |

@) 2600 km JQ/’ ﬁ _"'{';

@G) 1600 km 6 ~ /y\'
@) 1400 km 9[ fg

6%5’0

A long solenoid has 1000 turns. When a current of
4A flows through it, the magnetic flux linked with
each turn of the solenoid is 4x10~3 Wb. The

/'WL{‘_’\’

@ 4H TX
@) 3H
@ 2H

An inductor 20 mH, a capacitor 50 p.F and a resistor
40 €2 are connected in series across a source of emf
V=10sin340t. The power loss in A.C. circuit is :

8
91.

92.

"J'\)J

93.

95.

(1) 089W
@ 051W
@) 067W
@) 076 W

AL

www.FirstRanker.com

R B & farelt snafer o9t (o) & m 2o &
ot fave 1 fom Frtam o @ waw o =nfeu fi
I 9191 %! gUf T Wk ?

J5eR
J8R

JR
J3R

Ife &1 afewi & 4r &1 ofam 33 3 afewl & o &
T & aEr 8, 9 39 |iewl & da Fwo

(1)
@)
@)
)

(1 180°
@ o
3)  90°
@) 45

Yol o g | et S W e fava 3l et
T g F WH FHH: —5.4 %107 kg ~2 AR6.0 ms 2
B4 €2 gt w5 6400 fom . wfifsa

(1) 2000 ..

2) 2600 fa.H.

(3) 1600 f& .

@) 1400 ..

et wrait wftenferant & 31 =1 H@31 1000 81 5@ 34
iRt | 4A ¥ wenfeq Bt €, @9 39 wftenfer
F YF L W g TS T4 x 103 Wb Bl
21 3 uftafos = @-TEa T

M 1H

() 4H

G) 3H

4 2H

fordt €ra 9 emf, V=10 sin 340 t ¥, & Foft §
20 mH =1 T, 50 wF &1 T a9 40 O 1 wfadees
s €1 9 yearadt ur aftgy  uf e
1 089W

@ 051W

@) 067W

@ 076 W
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96.  Two identical charged spheres suspended from a
common point by two massless strings of lengths [,
are uulially al a distance d (d < <[) apart because of
their mutual repulsion. The charges begin to leak
from both the spheres at a constantrate. Asaresult, |
the spheres approach each other with a VHW
Then vvaries as a function of the distance x between

the spheres, as :
VL |

1 vexx!
1 —
@ v x2 ’)(4
-1
@ ovxx 2

1 2
97. % 2

F.|
utT —‘guF

A capacitor of 2 uF is charged as shown in the
diagram. When the switch Sis turned to position 2,

(1 80%
@ 0%
@) 20%

\/75 =

98. A particle moves so that its position lector is given

-» A A
by r =coswtx +sinwt y. er is a

constant.
Which of the following is true ?
—
(1) ocity is perpendicular to r and
acceleration is directed away from the origin.
(2) Velocity and acceleration both are
perpendicular to r.
_H—.
(3)  Velocity and acceleration both are parallel

—
to r

(4)  Velocity is perpendicular to T and

acceleration is directed towards the origin.

www.Firstﬁan ker

96.

o Al s

\J\@Q.OU’C\{Q .
WFW)R%

et ﬁgﬁ,mﬁ:ﬁ?ﬁmﬁ@ﬁ!ﬁ

§ freifaa, 91 wdam smafva o6, == gfasyo &

FRO, AT A TH-GH A d(d<<)) TP RE| A

B el 9 T 190 S F STl 1 &R0 SR 21 R,

3R 39 TS e U gE F1 SR 9o |
@ & T el & §d B G, x F Hed &k w9

aoH faam fFg s g S 22
1N ovoxx} ~ I }X V b
1 -
(2 v x x2 & = /(
2
@) vex

1V
g
Y L yv?
il L,;a

mﬁmmzu}wﬁm%ﬁzﬁwﬁ'ﬂm
smavH fan mn ® 1 w@ g s ) feafa 2 o
ST %, ﬁwﬂmﬁamﬁmmﬁwﬁl

v (0D

r)/

2-

@)  20%
@ 75%

15D

7,

?=c05mt;+sinwt§ g frefa fan mn
TRl o T Fai T

Fr=fafed 8 9 9 @ w99 99 82
(1) 3 7 % ehEad o e fag | g #
#R frefefa &1

@ IR [ F eEEd B
@) SMIRTRUCEE [ F A E

@) 3 1 ¥ ohEEd § ae @ g fag # e
frefiia 1
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From a disc of radius R and mass M, a circular hole
of diameter R, whose rim passes through the centre
is cut. What is the moment of inertia of the [gmgmng
e disc about a perpendicular axis, passing
h the centre ; Ji—

N
15 MR2/32
(3) 13 MR%/32
(4) 11 MR?/32

The ratio of escape velocity at earth () to the escape
velocity at a planet (vp) whose radius and mean
density are twice as that of earth is :

101. A potentiometer wire is 100 cm long and a constant

@

potential difference is maintained across it. Two
cells are connected in series first to support one
another and then in opposite direction. The balance
points are obtained at 50 cm and 10 cm from the
positive end of the wire in the two cases. The ratio
of emf'sis:

1 3: i
5:1

@) 5:4

4 3:4

A siren emitting a sound of frequency 800 Hz moves
away from an observer towards a cliff at a speed of
15 ms~ 1. Then, the frequency of sound that the
observer hears in the echo reflected from the cliff is :

(Take velocity of sound in air =330 ms 1)

(1) 885 Hz
) 765Hz
(3) 800 Hz
4) 838 Hz

—

(0)
N30 O

100.

101.

102.

~

Q
O www.FirstRanker.com

Zogq M d91 551 R +t frdt fes @ R =@ =1
FE guER 98 39 YER e 9@ ¢ fE et 3
forr & &= 4 T foF & 9w um =, fem &
e 3HE R W O 9 A9 & id: wSa
3Tl TR 2

(1) 9 MR2/32

(2) 15 MR%/32

(3) 13 MR2%/32

(4 11 MR%/32

gwﬁmwé’n(v)ammuamwan(u)
# 1 9 B, ﬁmﬁmmaﬁmmqﬁ
FIENA QT E?

1) 1: 2
(2) 1:2

3) 1: 242
(4) 1:4

foret fasammdt & ar &t e 100 .91, 9o 795
il & o9 ¢ fraa favar s T ) @
HeAl 1 GiHA H TeA TH gHL HI Geddl 9 g0
AR e wh-gat 1 faudia fewnsdi & Saifaa frn
™ R F 2E wEl ¥ y-fady fefy ar ¥
sTeTen A & 50 9. 3R 10 A gt Wy et
T 3l Fell i emf FT UM © ;

n 3:2

) 5;1,lL

3 5:4 LoD (W
4 3:4

800 Hz 3gfd &1 @ 0= &3 9l S8 9aE
et 9 | UF TgH F AR 15 ms— ! F TA
TfaHE 1 9@ 39 @t &t amgfh, 99 wgm 9
wrafda wfaeaf % w9 § 9 Serw gar €, 0 anf ?
(amg ¥ &y Ff 91 =330 ms | &ifew)

(1) 885 Hz
() 765Hz
(3) 800 Hz
(4) 838 Hz

www.FirstRanker.com
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103. To getoutput 1 for the following circuit, the correct | 103, i< feu e uftgy ¥, fifa 1 wra w3 & fou fFEw ==
choice for the i w @ P T T T
Ai—jﬁ— i
B
W/ T Y Co D——T;
A=1,B=0,C=1 (1 A=1,B=0,C=1

2) A=0,B=1,C=0
3) ,B=0,C=0

@ A131CU?>/

In a diffraction pattern due to a single slit of width
‘a’, the first minimum is observed atiﬂ_ﬁ;ngl&_
when hght of wavelength 5000 A A s incident on the
slit. Th\ﬁfst secondagr__max:mum is observed atan
angleof:

(1) sin”! (%)
@ sy'(3)
3 sin”! [%)

()

105. When a metallic surface is illuminated with
radiation of wavelength A, the stopping potential is
V. If the same surface is illuminated with radiation

104.

V
of wavelength 2), the stopping potentialis — . The
threshold wavelength for the metallic surface is:

(1) 3
(2" 4\ E Z /@\C/
(3) 5\
_5.;\ : /
@ 3

106. When an a-particle of mass ‘m’ moving with
velocity ‘v’ bombards on a heavy nucleus of charge
'Z¢’, its distance of closest approach from the
nucleus deper\cls.____gr_lr___rn__;ag

vy

A=0,B=1,C=0
3) A=1,B=0,C=0
@4 A=1,B=1,C=0

el AISE ‘a’ w1 fandll uwher farl W 5000 A wTeE
1 WY AT Ll 7, ot ol & o Ie9+ faads
Yeof W 30° % wivr W yeen fAferss fomm < €1 veen
Tediras sfew fom =io w feaE em, 9w € -

Dy () s\

2

104.

AR
@: =(3) o 0’0 \{//5@3@

©) Si’“l(] N3 10

(1

@ o= 1(5} (‘1" A

e foreht enfeaes ge & aiesd A & fafeol 9 udra
o st €, < Pt fasm v 81 afe 56 g= @
aqimesd 2\ & fafertoii § wea faan smg, o et
fov BT ¥ 5 e S ) 2k e
¥
(1)

105.

3\
2) 4\
5\

&)
5

@

/\

W& FFEF ‘m’ 991 a7 ‘v’ | MAHE HE o-F ‘Ze'
aw & gt i Aifves W amart & 8, O SaE
ifva | Faread 3amaa 1 g, m 39 YR st
FA T :

)
@

106.

)

e

4)

L]

2~ g 2= 2

8

** —
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107. Match the corresponding entries of column 1 with
column 2. [Where m is the magnification produced

by the mirror]
Column 1 Column 2
(A) m=-2 (@)  Convex mirror
1
B mF~—d (b)  Concave mirror
| L 2/:,-
© m=+2 (@  Realimage
1
Oy m=+ — (d)  Virtual image
2
(1) A— cand (},( B—»bandd; C—obandc
aand d
\ — band ¢;"B— band ¢ C— b and d;
D—aandd
3) A—aandc—B—oaandd; C— aandb;

D—candd_~~

A—aand d; B— band c‘;/
D— bandc

(4) C— band d;

108. A particle of mass 10 g moves along a circle of radius
6.4 cm with a constant tangential acceleration. What
is the magnitude of this acceleration if the kinetic
energy of the particle becomes equal to8 x 10~ 4] by
the end of the second revolution after the beginning

of the motion ?

a om ¥ = 6. L{ LA

2 01m/s? WM - L O (?/

3)  0.15m/s? o
4) 018 m/s? SO

109. A small signal voltage V(t) =V, sin wt is applie(
across an ideal capacitor C :

(1) ent I(t) leads voltage V(t) by 180°.
CurrentI(t), lags voltage V(t) by 90°.

Over a full cycle the capacitor C does not
consume any energy from the voltage source .y

(4)  CurrentI(t) is in phase with voltage V(t) )\

&)

110. A disk and a sphere of same radius but different

masses roll off on two inclined planes of the same
altitude and length. Which one of the two objects
gets to the bottom of the plane first ?

)

(2 Di
\/@/Sq::ll;re

Depends on their masses

www.FirstRanker.com
22

A, 3

Y e e loL €

\A&WﬁtRan er.com B

107. wiem-1 &t g9 wfafesdl =1 foam wiem-2 #1
gfafed & Fifau| 98 ‘m’ 29 gr Sa sadA

gl
Hied -1 HAT - 2
(A) m=-2 (a) 9 TYm
1
B m=-2 (b) A g9
© m=+2 (c) arfas wfafaa
1
D) m=+ = (d) s wfafes
() A->cdd;, B->bdd, Cobdc
D—add
2 A->bdc Bobdc C-oHbTJ;
D—add
B A—>ad9¢ Boadd, C— adb;
D—cdd
4 A—>ad¥dd;, Bobdc¢ C—- bdd;
D—bdc

108. 10 g TAHM F1 &S & 6.4 WA, el Brn F g9+
srafew ferdt fraa wodi-YEm @ | nfa #wa 2
Ifg 7fd s F F vvaE 4 ufera i F9 w
0T T TITS Fo 8 x 10 4] B Sl &, A T w5 F
ufamr 7 & 2

1) 02m/s2

@ 01m/s3
| 0.15 m/
-4

2
0.18 m/j2 >

oY faea de=ar V) =V, sin ot fHd e
C % fadl W srwga =1 7 #
{0 1(t), Fre=al V(L) J180° 3 |
Y I(t), Sl V() H90° TWE § 1
e Yol =5k § WA C dieedn Bd | FE e
YV TRl A |

V(t) F Fen &

\

A

110. Fi fem=F 3t #% ien, o=t Had 9@ wg
o i €, 5mE SEa o oen & 91 e
THAE W AeHA ¢ | T IHl (qUei § § qelt T Tea
1 T ?

(1) % zEEE W s Fa R
@ fe=
(3) e

(4) Bothreach at the same time

4 T TE @ g T
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111.  Coefficient of linear expansion of brass and steel
rods are taﬁ_and a,. Lengths of brass and steel rods

]
|

are [; and [ téspectively. If (I,—1,) is maintained
same at aﬂfe_ﬁl‘pﬁramres, which one of the following

i! relations holds good ?
1 ' \64_' aly

| @ oh=ol X
B

B =alf

@  of, =adl; X

112. A astronomical telescope has objective and eyepiece

of focal lengths 40 cm and 4 cm respectively. To

view an object 200 cm away from the objective, the
lenses must be separated by a distance :

(1) 54.0cm

e

46.0 cm

4) 50.0cm

A uniform circular disc of radius 50 cm at rest is free
to turn about an axis which is perpendicular to its
plane and passes through its centre. It is subjected
to a torque which produces a constant angular
, acceleration of 2.0 rad s 2. Its net acceleration in
ms ~2at the end of 2.0 s is approximately :

g o) W
\.ﬂ

| 113,

3.0
@ 80

@ 70

»-\_/m/a.o

T
' @ refrigerator works between 4°C and 30°C. Itis
required to remove 600 calories of heat every second

in order to keep the temperature of the refrigerated
space constant. The power required is :
(Take 1 cal=4.2 Joules)

(1)
2)
3)
(4)

2365 W

2366 W

23.65 W

236.5 W

www.Firi;'Ran ker.com

v
A
L i '2 _

r
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111. dqa (319) AR ©ia #i 98 & e T &
'T’TI'EFW: {Ilaﬂ—{(tz%| Wmmﬁ@@ﬁ
T FE: 1, IR, § 1A (1, 1) F A A
& fou gum == 9, 99 A" feu T oHEyi 6 9

FH-HFHF 77 )
!\ 4/{ 2

1) ,S
2)

/
%

gl =al, p
aqyly=ayly

alf% = agf% <

@)

@  o?l =adh

112. Tt Erieg g & 2Afygyas i afse =1 wred
i@l wae: 40 Bt w4 AL ¥ sfvgwas |
200 .. T fruq et forw 1 T@m & fom, <
ol & &9 i gh et : ,
(1) 5409
@) 3739/
() 4608 '
(4)  50.0 A

113, formmaeen § fom 50 4.4 G5 &t #98 twgaH
guER fem 3 a6 F e @ Fg § e
a1 A% F 9E: T F oy mda ¥ W e
HIE F A0 FE FHIAT 8, S FHH 2.0 rad s 2 H
fraa Fivia =R 3aE A B 2.0 s TYEE
ms~2 § T 7S S0 T AT ¢
1 3.0
@ 80
@) 70
4 6.0

114, T MRS 4°C 3R 30°C & &< 1 FI1 8 | Wi

e 1M arel T =1 ard e T & e 600 T
Foq & gfd deve e e smavas 2 R
8% fou stavgs vifsq 9ifen :

(1 cal=4.2 Joules FHfs@)

1) 2365W

(2 2365W

(B) 23.65W

@) 2365W

e
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A gasis 15 is compressed Jiq_t_h,emna.ll_sém half its initial

volume. The same gas is compressed qeparatelv
through an adi ic. process until its volume is
again reduced to half. Then -

(1) Which of the case (whether compression
through isothermal or through adiabatic
process) requires more work will depend
upon the atomicity of the gas.

Compressing the gas isothermally will require
more work to be done.

(3) Compressing the gas through adiabatic

process will require more work to be done.
(4) Compressing the gas isothermally or
adiabatically will require the same amount

of work.

The intensity at the maximum in a Young’s double
slit experiment is I, Distance between two slits is
d =5\, where ) is the wavelength of light used in
the experiment. What will be the intensity in front
of one of the slits on the screen placed at a distan

D=10d? ll . 7[—!—‘9 @
W

e

'I‘ 0 non- mlxmg liquids of densm nd

> 1) are put in a container. The helg each

is h. A solid cylinder of length L._and

den51ty dis put in this container, The cylinder floats

with its axis vertical and length pL (p < 1) in the
denser liquid. The density d is equal to :

(1)  {1+(n-1)p}p

{1+m+1)plp r~ l}\ T l
{2+@+1)pjp L7
{2+ (n—1)plp

@

o

[ W

(O

®)
)

Consider the junction diode as ideal. The value of
current flowing through AB is :

A |
e B e A —

+4V

M 10-3A Uk UB
@ 0

(BL~10"2A i \LP;'WL\H%
@ 10'A

ol

24

Q:
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115. & 19 F1 T9ardg w9 ¥ 39% a9 a9 09

i1e.

117.

118.

Hiifed foFan s &1 3ot 9 1 yo w9 § g
SfsHa1 5T 30 Y HFa7 a% qifed & s &
ad :
(1) =T THATE Wi gr Hifed o s7ere s
wisran g wifed 3, fog v & stfys
T4 A Fl AR SN, T8 T G
T fasfz

18 =1 i wiwan gr Hiditfed #33 | st
& T FT IS 2|

T4 1 wgHIS Wiwhar g Hdifed #33 § sifus
T4 HI HI ITTIEFAT 2 |

9 %1 THATITS U stee weH Wi S
H & TUH FT 1 F avaEar e |

40 % foi fg fort wam & 3femrs &1 e 1, 31
g Tl & i #1 gff d=5\ 2, mxm’mﬁ
AT foRT T wehTel T e € et e fard %
A 0 D=10d W fega 93 9 dfiaran & 2eft 2

I
o 5

@
S N A S
) 2 Iy \L\;\T ) C?L‘k'

3)

TF TR ¥ fufyd 4 29 9« 9 749, o e

p T np(n > 1) &, Tt u= & ¥ &1 wis g9

39 h ¥ | 0 L SR 9 d 3 R dem w5 5w

S H TR | AE S 9§ 39 YRR R,

THHT A& FEAYL &l ¢ a1 SHeA! s pL (p < 1)

A EI H A B T d FHA

(1) {+m-1plp O
vV IR

(2)

3

)

2 {1+Mm+1)pp -

(3) {2+m+1)plp -\/

@  2+n-1plp E

Yy sEE F IeY qHe faun | AB ®
YaTfed 9 =1 HE § -

A 1 k() B
+4V @‘ -6V
() 1073A
) 0A /—lj‘\’

@) 10°2A VRS
@ 107taA \ o
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|

120.

121.

A car is negotiating a curved road of radius R. The
road is banked at an angle 8 The coefficient of friction
between mﬂ%m‘md the road is p. The
maximum safe velocity on this road is :

/'

g g +tand
R2 11—, tano

f R2 _Ms + tanf

@ Vg 1 — pg tanb

{ K + tand
R8s & L
3) 8 1— pg tand

pg t+ tant
R 1- ptand

A long straight wire of radi a steady
currentI. The current is uniformly distributed over
its cross - section. The ratio of the magnetic fields
B and B', at radial distan
from tl

axis of

Ee

(2)

|-

@)
(4)

e e

hydrogen spectrum w
(1) 25%x107 m~

(2 0.025x10% m !
3)

@ FA+B (/Lr < (f W
1
) 33A+7B7 7. d\/

4) —2—A + —B

www.Firzngan ker.com
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119. %1% &1 5 R F1 3feha g% W 7fa9H &1 7@
TTF HI 0T FH ¢ | FR F A 30 HTF F A
Y- TN , ® | 59 TSH W EHN H SAfeEwmas g
Cul

8 KB t tanf
@ RZ 1- L. tanf
S

W + tanf
R2 ”'5.
(2) \/g 1- p. tand
e + tanf
R e e
® B 71—, tane

8 kst tanf
R 1-pgtand

0

g\/\% J |

LH

F%tf
(4

120. 5o a & Tt oo @9 9 9 318 =ndt ¥ 1

warfed & W ¥ 3E AR F WY FE W G
mmmﬁfaﬁﬁaﬁl T F e A e i

= aﬂtzaqzm TS &3 B 3B HIE

O

(1) 4 LBW W‘@QW&C&
1
@ 3 PMW
L ) W
2- Al
1Jr :
121. frear fraais &1 99 107 m ! fean ™ &, eEgeA
o et W= L L]
1 5x107 m~ - —
@  0.025%104 m~1 K V\[ N [
(B) 05x10" m- 1 =
@) 025><10’m‘1’_W
’7 ’)ﬂ”
122. 3 f&dt &0 F1 a7 0= At+Bl2€"‘Tb'T i

e %, mmmmlsa:ﬁms%mww

RV 0
3 l@ H
{’6 D.25

(6
(2) %A + 4B

(3) 3A+7B

o
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The angle of incidence for a ray of light at a refracting
surface of a prism is 45°. The angle of prism is 60°.
If the ray suffers minimum deviation through the
prism, the angle of minimum deviation and refractive
index of the material of the prism respectively, are:

:
"2
Q. 1
@ %5
() 30°; V2
@ 45,2

The molecules of a given mass of a gas have r.m.s.
velocity of 200 ms ™~ at 27°C and 1.0 x 105 Nm ~2
pressure. When the temperature and pressure of
the gas are respectively, 127°C and
0.05%10°Nm ~2 ther.m.s. velocity of its molecules
inms~1is:

100
M 5
@  100v2

400
® 7

10042
W =

An air column, closed at one end and open at the
other, resonates with a tuning fork when the smallest
length of the column is 50 cm. The next larger length
of the column resonating with the same tuning fork
is :

(1)  200cm
(2) 66.7cm
(3) 100 cm
(4) 150 cm

The magnetic susceptibility is negative for :
(1)  paramagnetic and ferromagr’?etic materials
(2)  diamagnetic material only

paramagnetic material only

(4)  ferromagnetic material only

124.

125.

126.

_FirstRanker.com

» English+ Hindi|

123, firew ¥ fart srvartes 9w G fareft waprwr fopeor  fomo

HTYTH H101 H1 97 45° T Toem =0 551 91 60° £
afe 7 for firen | =gem faafer @t 2, & =am
fa=em 1o qen foew & wered & stvadia waw:

@, i 1 3 |
I I/Ml M,},\@*§
o, i |
@ %5 1 —
®  30° 3 W ‘f 7
4) 45°; 2 -

-

Y 27°C 3R T 1.0x10° Nm~2 W fagt few o
ZSANH F1 6 % AU 1 3 WA G (r.mes)
200 ms ~! % | 519 39 9 ¥ a1 3w =@ FwH 1270
&7 0.05% 10° Nm 2 €, At ms ~1 § 38 79 ¥ a7opaii
1 T A T AR

100 VKN [+ 8.
o bl
@ 1002 A +0=| \\

400 a OMIN.
® 5

10042

) —
’ L
T W qo g fe W ogen #1 ang wy
fordlt @t g & w1y 39 99y oR #2a & 5w
3 91 W F FH-9-F9 o= 50 . o 2
3 @ fgs F WY e w1 gt @ 5@

(1) 200 &
() 667 B
(3) 100 |4
(4) 150 H.H.
TG guifed] T 2t &

(1)  egEHE 3R - g F fau
2 Fa wfagEsig verd ¥ fau
(3) e ST e ¥ faw

@)  FE FAe-grEE gere F fen
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127.  An electron of_mass m an photo ) ame
energy E. The ratio of de- e wavelengths
assoctaled witli them is

2m

E

]%

/

M -

1(

@ c(2mE)
(c being velocity of light)
128. A body of mass 1 kg begins to move under the action
; i T = 7 R ey
of a time dependent force F = (2t +3t° )N,

where | and :.: are unit vectors along x and y axis.

What power will be developed by the force at the
time (7

(1) _at+36)W %M&p
+3h)w ) :
22 +4th W F - ZJ
@  (B+3t)W &=

129. The

T wij ugh a resistance R varies
with time fas Q = at — bt, where a and b are positive
constants. The total heat produced in R is :

(1) L%
o & e K
m <X /b]ub
‘ 3b w L
@~ ER o

2h

A npn transistor is connected in common emitter
configuration ina given amplifier. A load resistance
of 800 £2 is connected in the collector circuit and the
voltage drop across it is 0.8 V. If the current
amplification factor is 0.96 and the input resistance
of the circuitis 192 (), the voltage gain and the power
gain of the amplifier will respectively be :

(1) 4,369
(2 4,384
(3) 3.69,384
4) 4,4

www.FirsEI;an ker.com
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127. TAUM m & soagE a9l fFd B #5139 E
THEHM ¥ | 379 WG 3-90E aiTesAl il S E

B =

o 2 (F)
o &Y
o (2] i0
@ c(sz)% (R

(F& c Y& AT 1)

1 kg S99 &1 H13 fuve fegt w@nfsg o
F=(@ti+32))N, 78l | it |, xalny sm %
srfey v |iey €, & oA vfa s Fwan &, @
Y t W 39 9 gW faswfaa wifem == 2nft 2

(1) @EP+30)W

(2) (EP+38)W

' ? 2+4ath W
’L+(%J29:3:4)w

129. fo&! wfay R 9 waifeq €9 &1 999 t & 919
o= Q = at — bt2 & &9 H &1 &, STef a a1 b YAHF
fraais 1 R W' Sc g1 s ¥

128.

R (e k-

6b

a’R / P;'— Iv =
® = ’%/ v B
L J&%{

130. mmwmﬁﬁnpnmm
Iousiw fama § Haifsa %1 800 Q =1 % @re
yfaly wuresw uftay § gaifad ® @it 79% faid w
0.8 V favedid €1 afe umr g uri 0.96 & aen
qftay &1 faw gfaiy 192 O € & 39 vyads &
Sreedl Afey qer vfam afs waer: 2 -

(1) 4,369
) 4,384
() 369,384
@ 44

Lo Bemcmen,
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131.

132.

A

133.
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A piece of ice falls from a height h so that it melts
completely. Only one - quarter of the heat produced
15 absorbed by the ice and all energy of ice gets
converted into heat during its fall. The value of his:
[Latent heat of ice is 3.4 x 10° ] /kg and g = 1T0N/Kg]

(1) 68km

(20 34km

(3) 544km

4) 136 km

A square loop ABCD carrying a current i, is placed

near and coplanar with a long straight conductor
XY carrying a current I, the net force on the loop will
be .

Y' B 4 C w
14 AU L 2 21
x| AT

D e | ——
L/2 L

2poli )(

“

20 liL

&)

Koli

®) 27

3

A uniform rope of length L and mass m, hangs
vertically from a rigid support. A block of mass m,
is attached to the free end of the rope. A transverse
pulse of wavelength \, is produced at the lower end
of the rope. The wavelength of the pulse when it
reaches the top of the rope is \,. The ratio Ay/\, is:

my +11"l2
I
LS R
@  \m,
my + mj
(3) -~
o

\

131.

132.

133.

www.FirstRanker.com
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aF H1 FIE THS 59 h ¥ 39 YHR v £ fF 98
qoia: foauet st €1 3 B At Se ) Faa
TH-H9E 9§ a6 gr sEvifua fe s € qan
% I AL Sl 39 A 909 o7 ¥ w9 8
St €1 Afe % T S 3.4 %105 J/kg q®
g=10N/kg 8, AFTE hF o= &

(1) 68 f&m.H.

(2 34 fEL
(3) 544 fe.HL
(4 136 f&A.

1§ FMHR U9 (F9) ABCD @l umw i warfeq &1
@l %, ol o Wi wes Xy fomd a1 veifed
FREF e i@y wmwmwan
Wﬁ?ﬁﬂﬁ"ﬂ:

Y B C

I (i L

X A D
L/2 L

o BT

) 3:70:‘1

3) %0%

@ =

THAA m, T TEE L H FE UHATH W
TG oF | AR T | T O F g i
TN m, F1 R TEH T 8| T F gad f W
TR N, HHE SFIT T e oA S
Al & & v 9% T W W W # aines
N, B STl ® 1 & ST A/N, FOAA R

L

0

my
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134. A black body is at a temperature of 5760 K. The
energy of radiation emitted by the body at
wavelength 250 nm is Uy, at wavelength 500 nm is
U, and that at 1000 nm is U;. Wien’s constant,
b=2.88 x 10 nmK. Which of the following is

correct ?

1)  Upy>U;
@ uU-=0
@ Uy=0
4 U >0,

135. Outof the following options which one can be used |
to produce a propagating electromagnetic wave ?
———

MWL’“

(2)  Acharge moving at constant velocity

(3)  Astationary charge %\
(4)  Achargeless particle |

—

(1)  AG and AS are negative but AH is positive
.
@ AG 1s negative but AH and AS are positiye

-~

5 A1 and AS all are negative

G and AH are negative bug is positive

137. The pressure of I, required to make the potential of
_Hz-elm‘lrmlv 7QL010 water at 298Kis:

(1) 10 Yatm

MU‘ M atm

3) 1072 atm

@4 10710 atm

138. Theaddition of a catalyst during a chemical reaction
alters which of the Tollowing quantities 7

Activation energy —
(2)  Entropy »
(3)  Internalenergy™
(4)  Enthalpy A

www.FikgtRanker.com
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134. IS Fioma 5760 K a9 W g1 39 fuve gro s«fsa
fafeeoll #1 e, a@mesd 250 nm W U,, JTeA
500 nm W U, @1 @7e=d 1000 nm W Uy B |
dH-fradi®, b=288x10° nmK &1 == faan mn

136. Tr=feafEa aol § @ F9 T Afavimn § gEfy

(1)  AG 39T AS FeHF ST AH YT 2l € |
2) AG FOTHF wAfehT AH TH AS 4T &id € |

() AG,AH & AS HY U 24 © |
TS AfHT AS ST Sl € |

AP B o)) N il R

137. 298K W Y& 51 H H, - oI F fava = &0
¥ ford sava® H, 7@ ®
(1) 10~*atm
(2) 10~ atm
(3) 107 2atm
@) 10710 atm

138. et vt sfufran o sams & 9m | faafafaa

H | FH | A= 9gend ¢ 7
(1) g st

2 T

@) e e

(4 T

Co .

www.FirstRanker.com

ﬁ'—rmﬁﬁiuuﬁ%? } He
M Up> Uiy - Be No FNe
2) U, =0Na 4 A
2 ] 3 (_?é"]’\{.(j gu_‘EQG:Nitulft a— Kr
®) Us = Opy o . 85 Nip Mo Te kat bl 1 — o
(4)  Up>U$S o4 pgM Tawe Ro013 P —
, e Ra
135, = faq mu fawedi 4 9@ fras svEm o qufE
—  foea gEwE @@ S F ° R S wwar €7
(1) I @R 3mEy
() a3 @ nfme =8 am@w |
(3) fersmEw
(@)  SAEYENE F
)
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(TS—; For the mllowmg reactions :
~—"@ CH,CH,CH,Br + KOH —
CH,CH = CH, +KBr + H,0 04
H;;C\ CH,4 HyC  CH,4
(b) "+ KOH—» + KBr
Br

140.

142,

TN
o Qe

Which of the followmg statements is corl:égt ?
M
reactions.

(2)

( a) and (b) are elimination reactions and ©is
dition reaction.

(a) 1s elimination, (b) is substitution and (c) is

addition reaction.

(4)

reactions.

The product formed by the reaction of an aldehyde

with a primary amine is :

(1)  Aromatic acid’

@) base (‘}{50“[0* QHSN Y
etone

(4)  Carboxylic acid C/Hg A

The correct statement regarding the basicity of

ary lamines is ;

(1)  Arylamines are generally more basic than
alkylamines, because the nitrogen atom in

arylammes 1s sp-hybridized.

(2) Arylammes are generally less basic than
alkylamines because the nitrogen lone-pair
electrons are delocalized by interaction with

the aromatic ring 7 electron system.

(3)  Arylamines are generally more basic than
alkylamines because the nitrogen lone-pair
electrons are not delocalized by interaction

with the aromatic ring = electron system.

4)

Arylamines are generally more basic than
alkylamines because of aryl group.
en_gases

Equal moles of hydrogen and ox are

placed in a container with a pin-hole through which | 142.
both can escape. Whatfraction of the oxygen escapes
in the time required for one-half of the hydrogen to
1/2 p” ML"/) . 2 By
(2) £ 1/8 . s il P
SR DESRI[E
4 3/8

(a) is substitution, (b) and (c) are addition
_—**

(a) is elimination, (b) and (c) are su bstltuﬁ"i'l‘

30

139.

140.

141.

www.FirstRanker.com

EnglishHi

= sfufwnet & fay .
(@) CH,CH,CH,Br+ KOH —

CH,CH= (qui\[}rr H,0

HaC - CHy HyC  CH,
(b + KOH ~— |‘ + KBr

Br OH

| 1 f N Br

€ | |+ Bry—>|
S Br

1 8 5 4 W wuT geg &0
(1) (a) 9fa=qm, (b) 311 (o) Frrsr sifufemam £

2)  (a) 3 (b) faeirm sifufeand & qen (o) 9rm
stfafeRar 2 |

(a) faretras sifufean, (b) sfameras sifufen o
(c) TS sfyfEan 2

(a) faetrem safufwan, (b) v (o) wfaeems
sAfsrfaang &)

ufeerre g wygtos U #1 sfufear § 531 3ar
g
(1
)

3)

(4)

o =1

(3) fwem

(4)  FATTdleE 3

THAUHA F &0ehdl & for) wat o &

(1) THFUHH g ety 9 e e
& Fiifs Tt § edisa uram sp-HHfe
2l

2) e g Mfewaie 9 ey e

Al # @i AR F THH - g seAaR
wifed 369 & ¢ - 3o ¥ Ay faefie
TAEI

(3) THETHE e tfewandE | s e
BTl & FIF TGS F CHH] - TH TR
wifes 56 & - e F Wy farenfim
T & £

(4) uftw wmg & Frv tdandE amrE:
fewerins ¥ S3re) et 1

EIFEISH Ud SATaEs 6l & |59 Aiedi #) v v
@1 TR, S v g faw F g vere =t aw
T BIEEE & 3 genge ¥ o o F atfadie w

P 1/2
(2) 1/8
¢y 1/4
4 3/8
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'{:143. /The correct statement regarding the CcompanoRirs t
\_ - staggered and eclipsed conformations of ethane, is :
(1) Thestaggered conformation of ethane is more
stable than eclipsed conformation, because
staggered conformation has no torsional
strain.
The staggered conformation of ethane is less
stable than eclipsed conformation, because
staggered conformation has torsional strain.
The éclipsed conformation of ethane is more
stable than staggered conformation, because
eclipsed conformation has no torsional strain.
The eclipsed conformation of ethane is more
stable than staggered conformation even
though the eclipsed conformation has
torsional strain.

(2)

3

)

hich of the following options the order of

arrangement does not ggree with the variation of
property indicated against it ? T

(1) 1 < Na < K < Rb (increasing metallic raditkﬁ)/
M Mg?* <Na* <F~ (increasing ionic
. size)

l\ﬁj O (increasing first ionisation

() B < C <N <O (increasing first io
enthalpy)

(4) I <Br <Cl <F (increasing electron gain
enthalpy)

145. The rate of a first-order reaction is 0.04 mol |~ 151
at 10 seconds and 0.03 mol =1 s—1 at 20 seconds

after initiation of the reaction. The half-life period

of the onis:
541s R

@ ws Cope [0 Y000
3 341s 5 £ ;
\ ; 415 TC%XA {M-M

|
‘ I/wn copper is heated with conc. HNO, it
odyets:

Cu(NO3), and N,O

(2)  Cu(NO3),and NO,

(3)  Cu(NOs),and NO

(4)  Cu(NOj3),, NOand NO, %
147. Ina protein molecule various amino acids are linked
- together by : Sl ——

(1)  dative bond

(2)  «a-glycosidic bond

(3) _ B-glycosidic bond

- peptide bond

148. Fogis a colloidal s

(1) .Gas in gas
_ Liquid in gas
(3)  Gasin liquid

(4) Solid in gas

1 v
Rankericom #iafa taWwinEHFStRapkeRCOm w#
YA E
(1) T = Fiafa Te90, 7% gEa0 § sfus
T R
(2) UAF F WiARE GEY, T TEIN § 5 2
& ife wiafta deqn § w2 fagdt 21
() UEF F YW TEQW, Fiafa gEn 3 Afus
el i T SEw § qud fagd 19
gl
@) UEE F U gE9V, qiafa g5 9 Afus
Il § S Te Teun § wird fagd 2
144. Trefefes § @ 7 @ %1 52 7 e F ufiads
F TR Geud TE 8 7
; (1) Li<Na<K<Rb (agdl &2 *nfeas )
20 AP*<Mg?t <Nat <F (Fed g e
HHR)
(3) B<C<N<O (=l g7 ¥9¥ simafe )
(4) 1<Br<CI<F (3 g sor afs edt)

145. T W99 Hife &t sifufaman &1 3 sfufea yrosy 2
F 10 sec IS 0.04 mol [~1 s—! AYT 20 sec @72
0.03 mol =151 &1 39 sxfufen %t u1g g #=a

A}

LA

7 1_,{.&,& NI@ J% PR

t:
(1) 541s -
Oﬂ) @ 241s (M .
B)  341s
\/?/ (#4415 ﬁ
146. F1 "R HNO, ¥ 19 TH &73 R a1
(1)  Cu(NOj),3RN,O
(2)  Cu(NOj), 3RNO, CB l
() Cu(NO,), #NO
(4)  Cu(NO,), NOZFRNO,
147. 9 319§ fafirs T vt v g A SR v E
(1) 2@ 3ES F gry
(@ o-TEEHfElEF ey F g
3) B-TEFIElEF ey F gr
(@) U<EE WEYF W
148. Y4 FazEt faergs &
(1) TmHETEE
2 Tz
@) zEHTEH L
4 T™HIW Clk _‘
ND»), gL
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149. Match items of Column I with the items of
Column Il and assign the correct code :

Column I Column I1
(a) |Cyanide process i) |Ultrapure Ge
(b) | Froth ﬂoamﬁ%# Dressing of ZnS
process
(c) Electroly-ﬁtj- redu\cy jS) b:xtrach:on of Al
(d)|Zone refining *fr/ﬁ“f) Extraction of Au
(v) [Purification of Ni
Code:
@ ® © @
1M Gy @) ) O a
%} i @ 6~
G @ G 6 W
@ O @ (@5 (@)
150. Which one-given below is a non-reducing sugar ?
\Mse .
(2) Maltose
(3)  Lactose -
(4)  Glucose ~

151. The correct statement regarding RNA and DNA,

respectively is :
(1) The sugar component in RNA s

2’-deoxyribose and the sugar component in
DNA is arabinose.

The sugar component in RNA is arabinosed
and the sugar component in DNA is

2

the sugar component in DNA

_2-deoxyribose. \_—"

The sugar component in RNA is arabinose
and the sugar component in DNA is rib%

(4)

152. The correct thermodynamic conditions for the
spontaneous reaction at all temperatures is :

(1) AH<O0and AS<0
(2 AH<O0and AS=0
3) . AB>0and AS <0

. H<0and AS>0

KQ
qu-...:

www.FirstRanker.com
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149, T | F Iooid &l ¥ 11 % Iooi@ § fged | o
HoFd ygfa € :

WY
Afa9Ey Ge
ZnS & JqHA
Al =1 fsmqo
Au &1 Fsor
Ni %1 =

=yl
HFTEE YA
WA e fafy
forega stueet sg=gA
Hed afteRn

(@)
(b)
(©)
(d)

HS:

(@)

(i)
(iv)
(i)
()

©
)
(i
0
(i)

(1)
@
®)
@)

(i) (v)

150. 7= 9 | 194 U R- 9= g e ?
(1)
()
3)
(4)

RNA U DNA & &8 |&t o9 %99 &

(1) RNA H & s 2 -fesifadiugag s DN/
o v g e B

RNA H v w2 aftfadig & 3k DNA 7
i g2 2 -festaiiEag ¥

RNA H W11 52 TE4IH § 31 DNA § 9
T 2 -feuiadEad 1

RNA ¥ &0 92 3fifaqm & 3t DNA 1
FIE AR EC R EC (i

151.

(2)

Tt At w wf9fma & @a.gafda & o 98

(1) AH<0THAS<0 A” ,_9_~V"

() AH<0TAAS=0 N H{ LC

P 152.

AH>04d91AS <0
AH<0TYTAS>0

—

(3) AS
—f = VQQ

AT

www.FirstRanker.com



English+ Hil'r_iill

153.  Which is the correct statement for the given acids ?

(1)  Phosphinic acid is a diprotic acid while
phosphenic acid is a monoprotic acid.

(2 hosphinic acid is a monoprotic acid while
phosphonic acid is a diprotic acid.

(3)  Bothare diprotic acids.

(4)  Bothare triprotic acids.

154. MY and NYj, two nearly insoluble salts, have the
same K values of 6.2 x 10~ * at room temperature.
Which statement would be true in regard to MY and
NY, ?

(1)  The addition of the salt of KY to solution of

MY and NY, will have no effect on their
solubilities.

(2)  The molar solubilities of MY and NY; in
ater are identical. )
\_/fz)/'l’fhe molar solubility of MY in water is less
than that of NY;.

(4)  The salts MY and NY, are more soluble in
0.5 M KY than in pure water.

155. Which of the following is an analgesic ?
1

loromycetin  ~)
Novalgin -
Q) Penicillin /Q
(4) Streptomycin X

56. ) The palr of electron in the given carbanion,

Q__GC_’-G——, is prese whlch oLﬂlefollm_wgng
orbitals ? e
(1) sp b
2 2p g
¢ 4
3) sp?
“\@)  sp?

157. /Among the following, the corkect order of acidity
is :

(1)  HCIO, < HCK 12\/; ICIO < HCIO,
(2)  HCIO; < HCIO, < HCIO, < HCIO
(3)  HCIO < HCIO»£ HCIO, < HCIOY
(4)  HCIO, < HCIO < HCIO, < HCIO,

158.  Which one of the following statements is
when SO, is passed through acidified K,Cr,0,
solution 2~

Green Cr,(SO,), is formed.
(2)  Thesolution turns blue. ?o
(3)  Thesolution is decolourized, >|
(4)  SO,isreduced. .

www.Firstlggn ker.com
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153. fr=fafaa d 8 <0 @ wum fed 73 sl & o udt
®?

(1)  witeR 3 fguet sna & srafsw wiewfes
3T THHTE A B |
(2)  RITEH 375 THAE! 37 § STeifeh Brehife
T fguiedt sva ®1
(3) < fEue ama €
@) 2 e s B
154. MY T& NY, 3 @47 Afqerd avi &l 58 & a9 T
Ko, UM, 62x 10~ Buganr €| frad asm @
FLTMY ENY, FH @ &2
(1)  KYTaU & MY U NY; & oo § g ®
T faerga W FE yuE 7@ year £
() MY TE NY, %t 91 § Hier faqergar aom 1
@) MY 5/ ¥ Hier faead Ny, § %9 8
4 MY UE NY, & @@ Y& el H1 go °
0.5 M KY ¥ a1 faerg 71
155, 71 § 4 B o < o e 32
(1) FERmEEe '
(2 A=ats
@) ufafafem J()Z
@ TR
156. i T -, CH,C =C° & I seiagH e
o ¥ fog wus o Sufeq &2
(1) sp
@ 2p %’ ~
@) sp’ I/{ U
@) sp?
157. FeAd e erad #wa e .
(1)  HCIO, < HCIO, < HCIO < HCIO,
(2)  HCIO, < HCIO, < HCIO, < HCIO
(3) HCIO <HCIO, < HCIO; < HCIO,
4)  HCIO, < HCIO < HCIO, < HCIO,
158. frefeifiaa & 4 %1 W w7 e & 519 S0, #1 a7vitg

K,Cr,0, & faeaa § 3 v faran s &2
(1) &0 Cry(SO,), Fa1 2|

) oo ien ve s 2

@) TooEs trEE B S

4) SO, 3Taafad g €1

*——ﬁ._..
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159.  Predict the correct order among the following :
)]

lone palr bond pair > bond pair - bond pair
> lone - lone pair

2 one pair - lone pair > lone pair - bond pair >

bond pair - bond pair

3)

lone pair - lone pair > bond pair - bond pair>
lone pair - bond pair

(4)  bond pair - bond pair > lone pair - bond pair

> lone pair - lone pair

160. Two electrons occupvmg the same orbital are
distin db

Spin quantum number

2 ’/\ f’% éh

®)
(4)

Principal quantum number
Magnelc quantum number
Azimuthal quantum nuriber

161. The product obtained as a resul ction of

%
nitrogen with aC215¢
L amen o (3 () DN

@ G, L

o CaCNg LTCJL),

(4)
162. Natugal rubber has :
\_/11)/‘:{andom cis - and trans-configuration
(2)  Allcis-configuration

©)
4)

All trans-configuration
Alternate cis - and trans-configuration

163. Which one of the following orders is correct for the

bond dissociation enth f halogen molecu]es ?

(1)  F,>ClL>Br,>1,

 L>Br,>ClL>F,
MBrz>F2>IZ

(4) Bl'2 > 12 > F2 > Clz

"

164. The reaction

NaH Me 1 e
o Oy i

can be classified as :

(1) Williamson alcohol synthesis reaction X
\M;Iiamson ether synthesis reactioW

(3)  Alcohol formation reaction pd

)

Dehydration reaction

www.FirstRan keg&:om
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159. == 9 F @é wm 2 -
(1) TFH g - S g > s g - e

2

161.

162.

163.

>
2

Aue

(@]

-~

g™ > UHH T - UHH g
UHE JH-UHH T > THEH -7
I > THE T - A& gy
EH T - E W > UHTHT g - et
pipFuEm Ty L D of

(1) Y=Y F2q S -

@) foeig FEien g

LIS i CaC, % g aifufsran F wa e 2 -

() CaCN

(4) Ca(:Ng

2 =t fag-fa=mg 2

(3) | Zr-famamg

Tt & fod wd § 2

(1)  F,>Cl>Br,>1,

4 Br,>L,>F,>Cl,

sAfufera
(1) fafes voree gvem afufwn
(2 fafermrs fux dvemm sifufisn

I > A& g - e g
THH! JTH - UHTH! 7 > S&H 7 - ayrae
T > THH T - T g
160. T Sl o U & e ¥ ¥ o o feas
2 7= e gE
(3) I=EE FiEH e
(1) Ca,.CN
() Ca(CN),
Wi fas @ H -
(1) s fo-ud ge-fomm #
4) R foq-ud gig-faemg ¥
Frfafan & & % s Seirom stvpsii %1 sreiy o
@ IL>Br,>Cl,>F,
3) Cl>Br,>F,>1,
Q E>-o Ne Me=1,
=1 =t foman < gear 2
@) Ucwiee farsm sfufra
4) Trsieto sifufa
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ithium has a bcc structure.
530 kg m ~? and its atomic mass is 6.94 g mol 1.
Calculate the edge length of a unit cell of

Lithiumanietal. (N4 =6.02x 102 mol — 1)
(ﬁpm { %

2 154pm WY
3) 352pm &~ £ (,(
@) 527 pm

98xTET'"m m and 181x1[!"*‘9_' Thé

2-6 166.
‘he ionic radii of A* and B~ ions are
0.

\ A\ (2

M\Nw.First%nker. om www.FirstRanker.com”

Its density is | 165,

fafaam 1 bec H=T 81 38F =@ 530 kg m 2
TG TCHY] THAM 6.94 g mol~1 B 1 feaferam g &

(Ny=6.02x 108 mol‘l) —
(1) 264pm ' O\
(2) 154 pm f/‘m I X Mb- %%g
(3) 352pm j&ju 0y W e (o N Lu?u
@4 527pm fhsr

(b e

0. %9

A+ Ud B- @Il &1 Arafis Seamd 0w
098x10- 10 mUE181x10-19m ¥ ABH Yo+

coor matlon number of each ionin ABis : HEA T SUHREASH B ©
o I s 1 \ ’ )

TS ur u ti i

3) 4 d--‘ VV\W ~ A g :

@ 8 VQ’Q IQ(o ()’Lz

' S 1@:_ ‘LL"W 167.

167. At100°C the vapour pressure of a solution of 6.5 g of
a solute in 100 g water is 732 mm. If K;,=0.52, the
boiling point of this solution will be :

M 13¢ LoD 6 \
101°C
@) 100°C % b —'%
@ 102°C w[% 168.
< - s
168. /The electronic configurations of Fu (Atomic Nd. 63),

Gd [Ator&ué No. ;)(;4)}:d Th( Aton\rp&ﬁ 65) are : ,g\/
[Xe

(1) [XeJdf76sF, [Xe4f 75d16s2 and [Xe]4f %6s2

M]d‘-f?‘”‘ ,‘ Xe]4f8 6s2 a}n/d/[)(e]4f35d’652
() [XelafPsd ‘ba?,(]Xe]4f75d1652 and [Xe]4f%6s2
(4)  [Xe]4fo5d'6s?, [Xe]df75d16s? and

[Xel4f $5d'6s? ) 169,

169. Which of the following statements about hydrogen
is incorrect ?
e

(1)  Dihydrogen does notactas a reducing ageﬁ!lﬂ

TF 6.5 g faeia &1 100 g 51 ¥ fae=m #1 100°C W

% T 732 mm 71 AfE Ky =0. 57.53{]5‘@

FLAIF BRI W
1) : »Nd'@g‘ wOJOA
)

Eu (99.63), Gd (4.9, 64) 3R Tb (9.9. 65) F
oI faam #
(1)  [Xeldf76s2 [Xe]4f75d16s2 3 [Xe]df %652
() [XeJdf76s2 [Xe]4f® 652 3T [Xe]df85d!6s2
(3)  [XeJdfo5dles2, [Xe]4f75d16s2 #H [Xe]4f %652
)  [XeJdf®5d16s2, [Xe]df75d16s2 3R

[Xe]4f 85d'6s2

fr=afafea ¥ 4 =9 @ F99 eEeeE ¥ 7 sms

8?7

(1) SEEESRH AYEEF ¥ &9 H 1 76 FA T

() TEIEA F O g § T | gnfoaw
T H B

(2) ydrogen has three isotopes of which tritium T
is the most common.  \\ (3) TR HES Fa § YA FI T8 AT
(3)  Hydrogen never acts as cation in ionic salts. i L
(49) Hydronium ion, H;O " exists freely in @ g , HO™ 3l A
solution. 4 ®9 § el %’ |
P — .|
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In the reaction
(1) NaNH,/lig.NH,
N=CeCH e CH1Br —

X and Y are :
=2-Hexyne ©

(1) -BUfY
(2 X=1-Bu Y 3-Hexyne©
X=2- Butyne Y =3-Hexyne

X 2-Butyne; Y= 2-Hexyne

/\jonﬂder the following liquid - vapour equilibrium.

(1) NaNH,/liq.NH;4
A2 CH, CH, Br

Liquid == Vapour

Which of the following relations is correct ?
dnpP _ AH,

O T RT2
dinG  AH,

@ a1 T Re?
dlnP _ —AH,

O ST T R
dinP _ —AH,

P “ dTr2 12

omposition of the vapour overamnideal T- Tiolar
——" mixture of benzene and toluene is correct ? Assume
that the temperature is constant at 25°C. (Given,
Vapour Pressure Data at 25°C, benzene = l"LSJEPa
toluene =3.85 kPa)
(1) Not enough information is given to make a
prediction.
Thg vapour will contain a higher percentage

172)\/}1:&1 of the tollowmg statements about the

The vapour will contain a higher percentage
of toluene.

(4)  The vapour will contain equal amounts of
benzene and toluene. A

173.  Which of the followi ‘ing biphenyls is optically

active ? e,
</ \g
_—_(@ 1 Lad
CHy
O,N
\/ 7 N\ \
¢ o \=(
Br Br :

72\ )_\

(3)

I

I
_
@ \__,

I

www.FirstRanker.c®m
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170. #fafemar §
St (1) NaNH,/liq. I\.H3 (1) NaN}iz/hq NH,4
B (2) CH, CH, Br () CH,CH,Br
X#RY®:

(1) X=1-FTH; Y = 2-2397=9
()  X=1-92H; Y = 3-399157
(3)  X=2-TRA; Y =3-39GH
(4)  X=2-FTH, Y = 2- A
171. = fa 7% 29 - sy mrEmeeen,

o9 = g
98 FF g w2
dlnP  AH,
(1) dT N RTf
dinG  AH,
@ a2 " R
o b _-am,
3 dT RT
dinP - AH,

@ 417 T T2

A Td 2 F 1 1 et wer fag ¥ ar
TawE ¥ ford freafafaa § 3 %9 o1 wv7 v 8
FEIT F o amEE 25°C W feem ¥ (fed ma Ar
E 25°C W o= =12.8 kPP, ZfEq=3.85 kPa)
(1) ST A F FHR S T 78 e
| I EEFA L
(2) a9 H FSHA FT feF wfavrar 2
(3) A ¥ s #i stfo wfavraar anft |
(@) =T H HEE A i uE afeds dnit

173. 79 4 4 &1 91 e wifoes gfeg &7
CH,

7\

172.

(4)
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174.  Which of the following reagents would distinguish

cis-cyclopenta-T, 2-diol from the trans-isomer ?
i 2 :

www.FirstRanker.com

www.FirstRanker.com Y

174. =1 9 d #7 @ sifvysds faq-grsami=1,
2-EEATA U 2HF TH-HHETE § 9T F:47 2

(1) Aluminium isopropoxide 1) - Yoo
(2)  Acetone - () THRH
g /
'\‘/@/Ozone : i (3) @A
4)  MnO, A g S (4 MnO, —_—

175. The correct statement regarding a carbonyl
compound with a hydrogen atom on its alpha-
carbon, is : i

©—

(1

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as keto-enol tautomerism.

a carbonyl con{imund with a hydrogen atom
on its alpha-carbon never equilibrates with
its corresponding enol. i

(2)

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as aldehyde-ketone equilibration.

@)

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as carbonylation.

—

176. Consider the mole

of the given stateme

than thie H — N — H bond angle in N

‘--—-——'—""'_—'————...—-_.._-_.-_______-_

he H—C - H bond angle in Cﬂq_lﬂ:;latge[

(2) The H—C—-H bond angle in CHy, the

H-N-H bond angle in NH,, and the

H—-0O-Hbond an H,0 are all greater
than 90°.

The H—O-H bond angle in H,O is larger
than the H— C— H bond angle in CH

3)

(4)  The H—O~H bond angle in H,O is smaller

than the H— N — H bond angle in NH,. {\ /]

-T_
==

Fraier AfF 577 o -FeE W ergeT ity 2,

e AT 78 o-Fe T RS G
Iufeerd €, % 37 oTIRT A § et 4
|qraEE ¥ 2§ 3R g7

175.

™

Tl AT ST o-la T RF g W]
3ufeerd €, 7% T oTgeY e § st @
R § g6 € 3R 7 vy Ufeeens -
FIEH WIREEI] FEeld 2 |

wﬁﬁaﬁﬁmﬁﬂﬁ -
3uftyd 2, J7 3 STIEY Ay
HrEE | 21 § AR 9% vy

(3)

\

Rt

st & ford e 3 13 i
¥

CH, ¥ H-C-H aw'a—a%w,fl NH, #
H-N-H A&9-H0 § 31w T

76.

CH; ¥ H-C-H 3&@9-#Mm, NH, #
H-N-H J&EY-F0 a3 H,OFH-O-H
-, Tt F 00° F e ¥ |

H,0 # H-O-H ¥@u-#m, CH, #
H-C—H J&EY-F0 4 e 2

O # H-O-H FEY-FM, NH, H
H-N —H S&g-$m 3 9 2|

ﬁ_:...'._._ ,.
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177. ) Match the compounds given in column Lwith the

hybridisation and shape given in column II and
mark the correct option.

Column1 Column II
distorted octahedral
square planar
pyramidal
square pyramidal
X ‘ (, ‘
" | .‘/ %
/I M B 6@ G xS
Vo Q0 (i @) (ﬁ)% %Q/*t"
(3) () (v) (i) r '
@ ® GO @Y s 2

-‘-‘__\_‘
178. Consider the nitration of benzene using mix_l?d conc.

H,S0, and HNO,. If a large amount of 418
?{6 added to the mixture, the rate of nitration will be :

(1)  doubled

(2) faster

\Mwer
Wlnchanged

179.  Which of the following statements i§

(1) Mg?* ions arei ts
of plants
(2) hﬂgz * ions form a complex with ATP. \

Ca2* ions are important in blood clotting.””|

Ca?* ions are not important in maintaining
the regular beating of the hear

(3)
r/@)/

180. Which of the following has %ﬂl
length ? (Free C —Q bond lengthin CO is T. ]
(_i;- - [Mn(CO)]*
(2) i(CO),
() [Co(cO),]®

@)  [Fe(CO) f‘@_ I o F_

\

178.

179;

180.

Cﬂt [Fe(CO,>~

fFwy nd fea ™ € = food 9w 98 fage =i
fafga =ifsa |

| I
@)  XeFg () fowa s=wa=a
(b) XeOs (i) a7 HETt
() XeOF, (iii) oSt
(d)  XeF, (v) = foafad)
e : ! \. )C” 2 F
@ () (
M Gy G (i) (m)f/ \,\ [
@ @ @)  @Gv) (i)
G 0O @ (v) (i)
@ (v) (@) @ ()

A1 B AL FE H,50, T HNO, &l 39refd
# @ @ ¥ afe 39 fago § s A § KHSO,

T € A ARSIHI0N FHT AT B

M 3T v

@ @ I

B R e

) mﬁaﬁa@// )L U

freafafaa A @ s=m @ A T 7

(1)  Mg?* 3@ 9 & 2| wril & fad geegt
B

() Mg2* 3MEA LA, F Y HFdl a4 2 |

(3) Ca2* 3TA & I 9HA & o Heao €1

(4)  Ca2* 3 7ea fa &1 Frafoa v § geaf

T &

frafafaa § 9 fagst ¢ — O arey TR sifysan
2?2 (qRC-O =y om=E COH 1.128 A 1)

(1)  [Mn(CO)J*
@  Ni(CO), \ e
@) [Co(CO),l® ‘ M]\/\

J{\_/Liﬂ Do-

P

My — 0

(

e
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Read carefully the following instructions : freferiaa fF3er ear7 @ vz -

1. Each candidate must show on demand his/her | 1 U8 W W e qhend, fies T 3l

Admit Card to the Invigilator.

. No candidate, without special permission of the

Superintendent or Invigilator, would leave his/
her seat.

. The candidates should not leave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Attendance
Sheet second time will be deemed not to have
handed over the Answer Sheet and dealt with
as an unfair means case.

. Use of Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

. No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

. The candidates will write the Correct Test

Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

ya9-=hrS fem@n |

2. aeftersr o friterss 1 fomiw srqafa & fam =i
TAreqel ST T T 8BS |

3. wEw@ friers #1 o 3R ud feu fomn wa
Iufefa-—uae W gan exaer fwu fam 18 i
gden e Tei Sren | afe foedt gdaned 3 gEd aw
Sufeafa-uae T e&mer 78 fhy @t 98 | S
for 399 I 9F Tl @ ® 3R g% afEa |
=1 AT JH] ST |

4. TR/ TEaAerd Ufteere &1 ST afsld €|

5. qae-afel § 3= & foru qdeneft e & fradi v
fafadl g fafga €1 efad wA & gt ame
1 e | % i e fafei & sgan am

6.wmﬁuﬁmgmaﬂzmwwaﬁ&m
37T A HL| 1

g 1% <Y
qﬁgngfém/mﬁﬁﬁqmﬂﬁmgﬁ?m ue;@
H T &t 7l @ sufeafa-oe § fomd

www.FirstRanker.com



